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Question Id : 3421233674 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the percentage (%) distribution of population in five different age
groups for five different cities A-E. Based on the data in the table. answer the questions that
tollows.

City-wise Details of Population

Percentage Distribution of Population in Age Groups of
O=Age=13|13=Age=19 | 19<Age=35 | 35=Age=60| Age=60
A 18% 12% 24% 30% 16%
B 16% 18% 22% 29% 15%
C 20% 20% 20% 25% 15%
D 15% 18% 21% 26% 20%
E 18% 15% 25% 24% 18%

Note: a<Age=b means Age belonging to group (a.b]
Sub questions

Question Number : 1 Question Id : 3421233675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the number of people in city-A belonging to the age group of (19-35] years is 31680, then how
many people are there in the age group of more than 60 years?

1.21120

2

. 24280
3. 23680

4. 19350

Question Number : 2 Question Id : 3421233676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If the population of City-E in the age group of (0,13) vears is 16200, then the population in the
age group of (0,13) years of City-E is % of population in the age group of (13,19] vears of
City-E.

1. 60

ta
=]
h

4. 120

Question Number : 3 Question Id : 3421233677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the population of City-C and City-D in the age group of more than 60 vears is equal to 24000
each, then what is the sum of the total population of City-C and City-D?

1. 2.4 lakh

(]

. 2.8 lakh
3. 3.2 lakh

4. 4.8 lakh

Question Number : 4 Question Id : 3421233678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

It the population of City-A and City-B in the age group of (19.35] years are 17280 and 21120,
respectively, then what is the ratio of the total population of City-A to that of City-B?

L7223

I

.34

Question Number : 5 Question Id : 3421233679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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It the total population of City-B and City-E are 96000 and 130000, respectively, then the
population of City-E in the age group of (0,13] years is approximately % more than the
population of City-B in the same age group.

1.47.24

[

. 49.67

Tad
h
[
Tad
=Y

+
L
=
h

Question Id : 3421233674 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

frafafad arfdeT O uid i e A U E & felU gid {953 3gam &1 SHawe & Uidwrd( )
fqaRUT D G211 741 g | difcids] # fAU U 3fidhs! & SMUR U, Ul & IR Sifog|

STTEREAT B1 WER-dR fdR0T

9 gt o S faavu &1 ufawa
0=3Mg=13 | 13=HTG=19 | 19=3HG=35 | 35<HT=60 [ HTT=60
A 18% 12%s 24% 30% 16%
B 16% 18% 22% 29% 15%
C 20% 20% 20% 23% 15%
D| 15% 18% 21% 26% 20%
E| 18% 15% 25% 24% 18%

fequof. a=3Hg <b P mf%a?f (a.b] & Afgaal & 3.

Sub questions

Question Number : 1 Question Id : 3421233675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e WE-AH 3 a1 (19-35] I8 & Hfadal Bl G=AT 31680 ¢, Al dgi W v Hfdkd 60 a8 U
3 g & g2

1.21120

I

. 24280
3. 23680
4. 19350

Question Number : 2 Question Id : 3421233676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ WY -E 1 (0.13] T o 311G 1 DI SIHEAT 16200 8 I, SR -E T (0-13) T4 G T Bl
ST RER E H (13-19) AU & AT T DI GTHIATHT % 8-

1. 60

B
=]
A

4. 120

Question Number : 3 Question Id : 3421233677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gie 60 a9 T it 1Y 97 T g ¢ AR e D DI SHEA], YD T 24000 8, A UG €
3R 2ER D DI Dl TGS DI TN R g2

1.2.4 cld

I

2.8 ¢ld
3.3.2 ¢4

4.4.8 ¢ld

Question Number : 4 Question Id : 3421233678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fe WX A 3R UG B Bl 3R I (19-35] T4 P SHIEAT HHT: 17280 3R 21120 §. I AR
A S SR BT WG B DI g1 H T UM g2

L:i2:3

I

.34
3.4:5
4.5:6

Question Number : 5 Question Id : 3421233679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ MY B 3R SR E DI Hol -G HHTT: 96000 R 130000 8. o U E H 3 T (0-

13] 9N B ST, THMH HGdH B G B DI STAERAT G T oo % (U B-

1. 47.24
2. 49.67
3.52.34
i e

Sub-Section Number : 2

Sub-Section Id : 342123150

Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421233680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following teaching techniques do not represent modern and ICT based teaching
method.

A. Recitation and Memorization
B. Flipped Classroom

C. Mind maps

D. Chalk and Talk Method

E. Gamification

Choose the meost appropriate answer from the options given below:

1. B and C Only

b2

.C and D Only
3. Aand D Only

4. D and E Only

Question Number : 6 Question Id : 3421233680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬁﬁ?ﬂﬁﬁﬁﬁ?ﬁﬁﬂ@ﬁﬁ%%ﬁ?&ﬂé 1. 21 ameTRd e &1 uaiRid g
Bl g2

A, TR UIS 3R $oR Al
B. [halts e
C. 7138 HY/ HFY HHEREAU
D. 9l US Tldh Ugid
E. THIMh I / Welldhul
A feu T fawedl § 9 o IR B 99 DIIT;
. HadB AR C
2. HAd C AR D
3. HAd A ARD

4. HadD AR E

Question Number : 7 Question Id : 3421233681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Concept Description

L A unit by which the course work 1s measured. It defines the number of hours

A | Academic vear | L 2 2 :
= of instruction required per week
8 | Credit Pomt I Papers taught under the programme duly defining the learning objectives and
outcomes

C. | Credit III. | Two consecutive (one odd and one even) semesters
D. |Course IV. | The product of grade point and number of credits for a course

Choose the correct answer from the options given below:

1. A-IIT, B-1I, C-IV, D-1

t-2

. A-IV, B-1, C-III, D-II

3. A-III, B-1V, C-1, D-II

4. A-1I, B-1II. C-1IV, D-1

Question Number : 7 Question Id : 3421233681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y AT 11 D1 I Pifore

A |defreas | 1 | EPTE ST U ST SIS 8 1 $9H 0 e & o
HIGRg @ &l G- & Uel o uRHId forar ol &
B |pRedee | n W%ﬁ;ﬁmﬁ%ﬁu@éaﬁaﬁﬁwaﬂmaﬁmﬁwﬁmﬁﬁ
Hfse 1T | &1 AN (U [9uH 3R U 99) G- aiid Jeama
D. |uda®mn IV. | UTeumH & faU U8 tis= 3R Hige @& &1 Hwd

A faU U faded] § U It 3R &1 99 HIoIu:

1. A-IIIL, B-1I, C-IV, D-1

[

. A-IV, B-1, C-III, D-II

3. A-IIL, B-1V, C-1, D-II

4. A-II, B-TII, C-IV, D-1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Question Number : 8 Question Id : 3421233682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following cannot be treated as the role of a teacher?

A. To be strict and fair but not harsh

B. Openly criticize colleagues in public, especially in front of students
C. Hard working
D. Motivates students and encourages them

E. Reports theories and content but avoids explanation

Choose the most appropriate answer from the options given below:

1. Aand B Only

2. A, CandD Only

3.B, C and D Only

4. C.D and E Only

Question Number : 8 Question Id : 3421233682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad o O f6-d! g & YiteT & 3 o 981 A1 & Uddl 62

A. T 3R ¢ i Hh2 ol

B. UedhHdl &1 vl |, [9=19 U I f=nfial o THe 1< &l
c. Hegad!

D. faental & URd 3R Uidifgd &3 dra

E. (STl 3R f[audasd &1 9did ¢ i I9P] e H3- d §dd g
A fau U fadedl § U ¥8T 3R &1 994 DI

1.$dd A3RB
. Had A, C 3R D
3. $Hdd B, C 3R D

4.$HadC. D3R E

]

Question Number : 9 Question Id : 3421233683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI

Jackson's learning style

LISTII
Description

Responsible, rational learners, endowed with an urge to explore the

Achiever

A |High sensation seeker | L B :
= > world so that positive goals can be achieved
: Learns from their mistakes, possess a scientific, detached and

Goal oriented . . S ;

B i II. |autonomous learning stvle, processes information in an emotionally
intelligent-manner

Emotionally : ; ; ctesipy
C. : i III. | Gets involved in new challenging activities

Intelligent Achiever =
D Conscientious v One who sets learning goal which are generally hard and specific and

has confidence to achieve the goals.

Choose the correct answer from the options given below:

1

2

. A-II, B-III, C-1, D-IV
. A-IIL B-1V, C-11, D-1
. A-IV, B-1, C-1II, D-II

. A-I, B-1II, C-IV, D-II

Question Number : 9 Question Id : 3421233683 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

g28.digialm.com/CAE/viewHtmIPDFAction.action

I I
w iR fags! fRremlf i ovg &1 @ie 39uv @ 98 8id1 6,
A |SE PRI | L | ora e da e for T 9|
AUt Tafaat @ died &, 399 ae dewy 3R o Sifie
B %ﬂ%@mmﬂ 1 %ﬁwﬁaﬁﬁwmnﬂwﬁéﬁfﬁgﬁiﬂaaﬁ%ﬂm
!
C Wﬁwfﬂm I11. | U gHidgef saar & gfffed g gl
5 . |58 =t vE aiftre g ffE| & 51 o 9. $ie- Sk Ry
D. | eI Sucliedd V- | S ¥ o oad 3 qiedl o i B A T FaTa el 2|
= fqu U fadeal § O 9gt 3R &1 99 DT

|

B

. A-IL, B-IIL C-I, D-IV

- A-IIL B-1V, C-I1, D-1

. A-IV, B-1, C-III, D-II

. A-I, B-1II, C-IV, D-II

Question Number : 10 Question Id : 3421233684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Which of the following are correct in the context of Artificial Intelligence as one of the
innovations in evolution system?

. It is a software system used for automated scoring

. “AI" technique is applied to learn how an instructor grades a problem/response

. It is the final authority about the student's performance

. The instructor evaluates a sample set of students responses and *Al’ system creates a
computer model incorporating rules inferred

E. Presently, most of the higher educational institutions in the country employ *Al” based

evaluation system.

Onm e

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. A.Band C Only
3.C,D and E Only

4. A, B and D Only

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/134
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Question Number : 10 Question Id : 3421233684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el § U & ¥ fdbed Gelih--Uulel § U HaM6R & $U § iEhIR™d Sedlol-g
(PIEH i) & HeH H Tel ©-

A. U R GG (W1 & [T ITarT fdhdr S arel T HiiedaR gl
B. “U. 3115 UG &1 SN I S o forg faba ST g fob i Uiiero iy YR fabit
TY/ 3feha1 DI Yuiidhd Sl g
c. 3 faendf & ue=iH & aR ¥ (Huigs gam gl
D. W& faendf o ufdichar & ufdexl/ 9rdd Ue &1 Jedidhd HRdl g 3R T, {1 Yol
ST Al &1 gurafRid b de disd [Hid $d S|
E.%@ﬁ,ﬁﬁﬁ%@ﬁﬁ?ﬁf&ﬂ@@ﬁ"ﬂ 31 MUTRA Yot Wommel Wi
|

- feu e faseut # ¥ @7 IR &1 99 DI
1.Hdd A 3R B
2. HIAA, B3R C
3.$dd C, D 3ARE
4. HdAA, B3R D

Question Number : 11 Question Id : 3421233685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process of telling research participants of any deception or ruses used in a study, is known as

1. Active deception

t-2

. Passive deception

3. Dehoaxing

=

. Desensitization

Question Number : 11 Question Id : 3421233685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AFYYH P HITERT B g H IUaNT ST 15 fH8! YA 34d 90 & IR H §dMH &
UfehaT el &-

L. O Yl
2. ST YA
3. SIgIaET

4. 3FHACIHRT

Question Number : 12 Question Id : 3421233686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In qualitative research, which of the following criteria is concerned with the question do
the findings apply to other contexts?

1. Transferability

f2

. Credibility

4

. Internal validity

4. Confirmability

Question Number : 12 Question Id : 3421233686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D S H (afRad & 9 & 91 ards Uy 1 RO 3= HeHi & e
AR gld B, ¥ Hdfd 8o

1. 3fRuliadr
2. [aY e
3. 3R eyl
4. IR

Question Number : 13 Question Id : 3421233687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 14/134



8/24/24,12:32 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Arrange the datasets with following pairs of mean( ) and standard deviation (o) in increasing
order of their coefficient of variation.

14

Il
Il

2-8
1-5
2-1

Cnwp

= = = =
]

"-" q Cl q
]

9,
12
8,

Il

=1.2

Choose the meost appropriate answer from the options given below:

b BC D
i 0 £ Wl .
3.0, B, A

46, DA B

Question Number : 13 Question Id : 3421233687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H1¢ (%) 3R AFS fade (o) & FEfeiad Siisl drel Sierdd & 3 fd=ror quid &
3RIS! ¥ H afRyd BT

.x =14,
X =9
x=12,
X =8

]
»

el 3R 1 94 DHIfIU:

3.D,B,C,A

4.C,D.A.B

Question Number : 14 Question Id : 3421233688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC regulations 2018 on plagiarism a faculty will be denied two successive annual
increments for which of the following similarities in research publications?

MmO 0w
=]
2
=]

52%
Choose the meost appropriate answer from the options given below:
1. A. B and E Only
2. B, C and D Only
3. A.B,Dand E Only

4. C and D Only

Question Number : 14 Question Id : 3421233688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yifgfde® IRT (WiERE) 1R g, S 9 a0 2018 & 2F9R, Y YbE §
frafeiRagd o 9 fod- gaMHdsi & fau fhdl S6rg 9ad oI &l Hife aitie da- gfadl
dfad foar Smemme

.42%
. 38%
. 76%

]

monNnwp 4

A fau U fasmedl § 9 ¥8T 3R 31 994 DI
. Hdd A, B3R E

. $HadB,C 3R D
3. HAAA.B.D3IR E
4. PadC AR D

f-2

Question Number : 15 Question Id : 3421233689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Type of variable Example
A | Nominal I. |Happiness level
B. | Ordinal II. |Height
C. |Interval III. |Blood group
D. |Ratio IV. | Year of birth

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

I

. A-II, B-1II. C-IV, D-1

3. A-III, B-1, C-1V, D-I1

4. A-IV, B-111, C-1, D-II

Question Number : 15 Question Id : 3421233689 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e Hifsy

1 g

T HIUPN Jale
A |sifea L Qe ®R
B. |HHYd® I (&= @

C. | 3R ndlkatrn
D. | U IV. |S @1 ay

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1. A-I, B-II, C-III, D-IV

(B

. A-II, B-III, C-IV, D-I

3. A-III, B-1, C-1V, D-I1

4. A-IV, B-111, C-1, D-II

Question Number : 16 Question Id : 3421233690 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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First printing press in India was established at:

1. Goa

t2

. Kerala
3. Tamil Nadu

4. Bengal

Question Number : 16 Question Id : 3421233690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URd H ugdl Tl Uey Euerd &1 1941 gs A
BRI

A H

ISR

4. SA H

f-2

L

Question Number : 17 Question Id : 3421233691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The main purpose of establishing Television in India at the initial stage was:
1. News
2. Entertainment
3. Education and awareness among the rural population

4. Scientific development

Question Number : 17 Question Id : 3421233691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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R TR H HRA H gRGRA &I RITTHT ST I3 Ya1e UT-
1. GAER

HARSH

3. JTHIOT SRS H fRI&7T 3R S

4. AT fabr

f-2

Question Number : 18 Question Id : 3421233692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the sequence the 5 Cs (Elements) of communication

A. Compassionate
B. Curious
C. Compelling
D. Concise
E. Clear
Choose the most appropriate answer from the options given below:
1.A,B,C.,Dand E
2.B,A.C,D,and E
3.)EED.C.Band A
4.D,E.C,Aand B

Question Number : 18 Question Id : 3421233692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YUY & 5 Ul (Fohl) BT U1 3hH H AR DifeU

A. HUTFT (STTd)
B. FRIY (SRIN)
C. hUleHT (FIDRY)
D. ©d13Y (Hgd)

E. fael@R (W)

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,B.C.D.E

2B, A,CD E
S EDC B, A

4 D.E.C.A.B
Question Number : 19 Question Id : 3421233693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Basic factors of listening are:

A, Self interest

B. Speaker

C. Facts

D. Style of speaking
E. Atmosphere

Choose the meost appropriate answer from the options given below:

I.A. BandD Only

B

. A, Cand E Only
3.B. C and E Only

4. B. D and E Only

Question Number : 19 Question Id : 3421233693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A, 3T TSl

B. 9l

C.dw

D. dIp-2cil

E. URGRI/ SIdTaRl

i feu T fahedl § 9 a1 IR B 99 DIIT;
1.$Hdd A, B3RD

2. had A, C 3R E
3. Had B. C AR E
4. HAd B, D 3R E

Question Number : 20 Question Id : 3421233694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTI
Mass media Example
A |FM I. | The Trbune
B. |Newspaper II. |Rediff com
C. | TV Channel ITI. | Radie Mirchee
D. |Internet IV. |CNBC

Choose the correct answer from the options given below:

1. A-II1, B-11, C-1, D-IV
2. A-IIL, B-1, C-IV, D-II
3. A1 B-II, C-IV, D-IIT

4. A-11, B-1, C-III, D-IV

Question Number : 20 Question Id : 3421233694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

kS Sie
FTHER IGTEI00
Uh UH I |&fesgd

HHEN U . |3fE% BIF Rediff com
A dga | |[Yfefef

ELET IV. |9t o st i
Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-IIIL, B-IL, C-1, D-IV

olo|w|»

2. A-III, B-1, C-1V, D-II
3. A1, B-II, C1IV, D-IIT

4. A-IIL, B-1, C-III, D-IV

Question Number : 21 Question Id : 3421233695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The cost price of two articles is same, one of them is sold at a profit of 13% while the other one is
sold at a profit of 19%. If the difference between their selling price is Rs. 126, the cost of price of
each article is

1. Rs.1800
2. Rs.1900
3. Rs. 2000

4. Rs. 2100

Question Number : 21 Question Id : 3421233695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sl el & ANd qed G S | STH Y UD Dl 13 % & A Y Sdih GO Bl 19% H dH
ST SIIAT §1 4 3 fafhd Hea & S 3. 126 &1 2R &, d1 Ud® 9% &1 AT Hed -

1.%.1800

2.%.1900
3.°%. 2000
4.%.2100

Question Number : 22 Question Id : 3421233696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ship is approaching towards a shore, when it is 32 miles from the shore, a plane having speed
15 times that of the ship is sent to deliver supplies. How far from sea shore does the sea plane
catches up with the ship?

1. 30 miles

I~

. 25 miles
3. 15 miles

4. 10 miles

Question Number : 22 Question Id : 3421233696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch ST dc di 3R d¢ 381 ¢ | 9id 98 YHgdc U 32 Hid g2 ¢ o U 9y forgant 7ifd
ST ¥ 15 THT 31D . B el & faaRor & fag 31 S 81 §gde ¥ fbadl gl W

A g, S db Ugd Sei?
1.30 did

25 Hid
3. 15 Hid
4. 10 Hidl

[

Question Number : 23 Question Id : 3421233697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following fractions in increasing order-

Choose the most appropriate answer from the options given below:

.A,B,C,D
2.A,D,B,C
3. D,AB;C

4.B,D,C, A

Question Number : 23 Question Id : 3421233697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad fial o SRigl H H orafed Sifsr-

KoL

11

11
B
c 2

13
p BB

21

1 fGU U fasedl # U g3l & 994 DIl

1.LAB.C.D
2A.D.B.C
3.D.A.B.C
4 B.D. C, A
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Question Number : 24 Question Id : 3421233698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the numbers that occur in the given series:- 0.3,10.21.36.......

Mo nwp
i e~ e B |
W O ND GO Lh
o L

Choose the most appropriate answer from the options given below:

1. A, B, Cand D Only

]

. B, C and E Only
3.C, D, E and A Only

4.D.E, A and B Only

Question Number : 24 Question Id : 3421233698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 T3l ol Ugd Hifeld §if &1 715 90f1 0,3.10,21,36,..... H 3mufi-

Lh
A

.78
.99
.. 105
. 136

-4 feu U fasetl # 9 @1 SR &1 99 ST
1.®dd A, B, C 3R D

HdAB.C3AR E

3.$HddC, D, E 3R A

4. HdAD,E. A 3R B

HUOwp

R

Question Number : 25 Question Id : 3421233699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII

Word Unique code
A |QUAKE . |QDBBI
B. |JOFTEN II. JEQIUFE
C. |PEACH 1. |[RTBIE
D. |IDRIVE IV |PEUDO

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-1l, B-1II, C-1V, D-1

3. A-IV, B-1, C-II, D-III

4. A-IIT1, B-1V, C-1, D-II

Question Number : 25 Question Id : 3421233699 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

il -1 6 91y Y11 31 firem sifere

LISTI LISTII
g fafere $c
A |QUAKE I |QDBBI
B.|OFTEN II. |JEQIUF
C. |PEACH III. IRTBIF
D |DRIVE IV [PEUDO
" fGu U f[9dedl # U I8t 3R &1 994 BIIU;

1. A-I, B-II, C-III, D-IV

2. A-11, B-IIT, C-1V, D-1

3. A-IV, B-1. C-II, D-III

4. A-III, B-1V, C-1, D-II

Question Number : 26 Question Id : 3421233700 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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What can be correctly claimed about the following?
“I ate because I was hungry”

1. Its an argument.

(]

. Its a Non-argument
3. Its a non-argument, it's an Explanation

4. Its a non-argument, it's an Illustration

Question Number : 26 Question Id : 3421233700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeIRad a19d & 1olu 399 T &I 1 g1a1 Yl 62
<4 YIS fdoar ifd o oy a1

1. 4 U giak/dd §

2. U UH 3gfad/3idd §

3. 4 UD 3fad/3fdd g, Ug AT §
4. UD ffay/Hdd g, ug epid @

Question Number : 27 Question Id : 3421233701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Name the fallacy committed in the following:
“All the textbooks are books intended for careful study. Some reference books are books intended
for careful study. Therefore, some reference books are textbooks”

1. Fallacy of Illicit Minor

. Fallacy of Illicit Major

B

3. Undistributed Middle

o

. Fallacy of four terms

Question Number : 27 Question Id : 3421233701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafeigd o gU US g &1 A 91

Ul UreaqRddy AHYdD I & YU H 91 Td 81 $2 YoH Txddh AMYdD

S & HYUE Y 4] Yedd ¢ 1"39eIU, & e J&dd Uléd Uk g |
 3fdY dY Ug gy

3{dY 7B Ug Iy

3. AT gd &N

4. IR UG BT AW

[a—

B

Question Number : 28 Question Id : 3421233702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the fallacy committed in the following:

EE)

“Ford cars are lemons. I have owned two and they gave me nothing but trouble™.

1. Inappropriate appeal to authority
2. False alternative
3. No fallacy

4. Hasty Generalization

Question Number : 28 Question Id : 3421233702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frafaiad &3 H gU U dd &Y &1 UgaH DI ﬁ
“TpIS ST (@R) (/g 1 R UM &1 § 3R 3614 § ed & g faar g

1. DR 9 U S ugd Sdid
2. 7ard fadhed

3. ®ls db Gy el

4. TR FHATHRT

Question Number : 29 Question Id : 3421233703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is incorrect claim in the context of Vyapti?

1. For Carvakas, it is possible to ascertain that smoke is invariably and universally attended
with fire all the time

(]

. For Buddhists. the universal relation between smoke and fire can be ascertained even
without examining all the possible cases

3. For Vedantins, Vyapti between smoke and fire is known to co-exist and at the same time it is
never known not to accompany smoke

4. For Naivayikas, it is neither easy nor necessary for the formation of a universal proposition
to ascertain any relation of causality or identity between the two phenomenon

Question Number : 29 Question Id : 3421233703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & Yeu # FufaRad # T &H 1 ara1 7Ted 22

 ARATDh! & o8 Tg 78 HRATHHT ¢ Tob Yait 3uikgrd sk wifdEe $u 9 ¥ed =i &
1Y JURRd glal g

il & oL, YU 37R 21 & oFd 9d Gy Ty o g grae § aieo foy 94T o gar
AT ST ghdi g |

- deli=al & feu, 4u 3R 31 & o9 A1t Ugadi ¢ 3R 1Y g1 d HHil 1t fo1 (i & g4
EARERIEIEIEIGIE

a1 & forg, g Uiasifd S & fau SFf uRuere & §id SIS gdd dde a1
UgdM & [HUTRT HA1 9 df ATH 3R A9 6l ad ol

—

f2

s

4=

Question Number : 30 Question Id : 3421233704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of sentence meaning relationship which of the following refers to 'Expectancy’

1. Asatti

f-2

. Akamksa

L

. Yogyata

=

. Tatparya Jaana
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Question Number : 30 Question Id : 3421233704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- 3 ey & e H Fafaied O 9 <uayuaed (U &1 ol |18
1. 3

. ATehie

3. g

4. IO {1

]

Question Number : 31 Question Id : 3421233705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L), 4 represents a number L in base - 16 number system, then (4AC) ¢ + (9BF )=

1. (E6B)1g

| ]

(ATBF)i¢

L

. (CFC)y5

4. (D68)1¢

Question Number : 31 Question Id : 3421233705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 99-16 3P UUMTell H (L);4 SRAT L DI USRId BIAT 6. Al (4AC);4 + (9BF) =

1. (E6B)g

2. (A7BF)¢

)

3 {CHO)sg

4. (D68)1¢

Question Number : 32 Question Id : 3421233706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Microsoft PowerPoint comes with several categories of built-in transition effects. Which of the
following is not a type of transition effect supported by Microsoft PowerPoint?

. Subtle

(]

. Speed
3. Exciting

4. Dynamic Content

Question Number : 32 Question Id : 3421233706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I [HIUe UraRulg fdee- ol yyId &1 3 4ol d oird g | Fafafad § § o
I ISl U HI3eh It grauie< gRT 9aidd UeR 8l g2

1. 9cd
2. WIg

3. Ui

4. SEHAMHD B

Question Number : 33 Question Id : 3421233707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct order of the following computer storage capacities A-E from largest to
smallest capaity (1 K= 1024)

1000000 K Bytes
100000 M Bytes

1 T Bytes
10000000000 Bytes
100 G Bytes

mONnwp

Choose the meost appropriate answer from the options given below:

1.E,C,B,D,A
2.0, E. B, D C
3.D;C.E; B, A

4.C,E,B,D,A

Question Number : 33 Question Id : 3421233707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad SR WRE (USRI &Hd131 A-E ©f 949 3{U$ Y a4 S &HdI D Tl a H
IdfRYd PISTY(1 K= 1024)

1000000 fhcldISE (kBytes)
100000 HIT §13¢ (M Bytes)

1 é?lalﬂa (T Bytes)
10000000000 Bytes
100 G Bytes

A fGu U fadedl § 9 ¥8T 3R &1 994 DIoIU:

1.E,C,B,D, A

mon W p»

]

AE B D C

LS

D E B A

4. C,E,B,D,A

Question Number : 34 Question Id : 3421233708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In cloud computing, which of the following are the advantages of using cloud storage?

A. Data files of customers stores on the cloud can be accessed at any time from any device
anywhere in the world provided internet access is available.

B. There is no need for customers to carry an external storage device with them or use same
computer to store and retrieve information

C. If the computers have slow internet connection, then they would not face any problems
accessing or downloading their data files

D. Cloud storage is typically delivered by a cloud service provider

Choose the meost appropriate answer from the options given below:

1. A. Band C Only

t2

. A, B and D Only
3. Aand C Only

4. B and C Only

Question Number : 34 Question Id : 3421233708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Fellgs DT H Flds TRl & HEfaRad & o 9 a1y 82

A. T3S IR HSIRT Y| Bl STel- BISal ddb 5e-e bl Iudsdl giH IR fay R d dal
R i, Tl ot oy o off fSars g 9§ ugn ol 9adi 2 |

B. SHGRI &l HSTRA SR U: U $H- b [¢1U rgah| DI fhdl argl <R [Sargq rdl
J HR BT FTAN D B ARGl Tei gldl ¢ |

C. TS ATGD! BT ST HaRM H gl dl ITD1 (U1 SeThlgdl db Ugd U1 SISl

¥ H fbdl UL BT AT 981 HAT US|
D. T3S LR Bl USiUd U U Fell3s Hal Ualdl gRI UeH fbdl Sl |
e feu T 9l 7 9 FT SR D1 99 BIfST:
I.Hdd A, B 3R C
2. HdAA, B AR D
3. Hdd AR C

4. HAAB 3R C

Question Number : 35 Question Id : 3421233709 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI

Digital India Theme

LISTII
Purpose

Subscription-based scholarly information (e-books and e-journals) at lower

A |e-ShodhSindhu | L e

B. |e-Yantra II. |Robotics outreach project run by IIT, Mumbai

C. |e-Vidwan III. | Expert database and National Researcher's Network
D. |e-Kalpa IV, | Dagital-learning environment for design

Choose the correct answer from the options given below:

1. A-IV, B-11, C-III, D-I

]

. A-IIL B-I1, C-1, D-1IV

3. A-L, B-II, C-III, D-IV

=

.A-IL B-1V, C-1II, D-1

Question Number : 35 Question Id : 3421233709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CANERIEEIELY

I I
UEIER)

A |£ vy " ;isga%-g? HIHTRT HEGRNE THBRI (3-G&dd AR 3 -S-eh) Tl &
ERE] 0. |31 3 & gus gRT I o <eT Asiiead Agedid Helde
s- fagH 111, | U0 STered 3R I3 =y Jedd

D. |- % 1v. | fafored i Tarde (3ffavms uRamn

" f6u U Al § U Tot 3R &1 I994 BIIT;

1. A-IV, B-11, C-III, D-1I

I

. A-IIL B-11, C-1, D-IV

3. A-L, B-II, C-IIL, D-1IV

4. A-II, B-IV, C-I1, D-1
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Question Number : 36 Question Id : 3421233710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The amount of rainfall required to saturate the soil is known as.

1. Field Capacity

(]

. Soil Moisture content
3. Soil Moisture deficit
4. Wilting Coefficient

Question Number : 36 Question Id : 3421233710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 &1 Yqwd B B (AT ATa=aS a9 B HHT B o-
1. e o YTRn

2. el 4! Dl |l
3. HeT AH AT
4. T1( T[0T

Question Number : 37 Question Id : 3421233711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Groundwater is specially prone to excessive hardness due to.

. Calecium and Sodinm 1ons

]

. Calcium and Magnesium ions
3. Sodium and Magnesium ions

4. Potassium and Calcium ions

Question Number : 37 Question Id : 3421233711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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19 &1 IUTUFA & BRI HITSTe [N ¥ e HERdl B Udf gldl ¢-
1. HicaH 3R WISy 3

 hicHTH SR HARIEH 3E

3. WIfSTH SR HifREy g

4. UIeRrgn SR Sfcam s

f-2

Question Number : 38 Question Id : 3421233712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the order of their occurrence starting from oldest to the recent.
A. Bhopal gas tragedy
B. Fukushima disaster
C. Chernobil disaster

D. California Smog
E. London Smog

Choose the most appropriate answer from the options given below:

L.EE B A C
2.E;C.A,B.D
3B EAC B

4.E.D.A,B.C

Question Number : 38 Question Id : 3421233712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad ge-rs & 39 9ied gH & ®H H Tad UdF ¥ 3RY $Hd gU TdiHad ddb
AT BT

A. HIUTE T A1G1
B. BRI gl
C. Iifad g
D. hlhITa1 T (YH-HIgR)
E. ded ST (YHDIERT)
1 fGU U fasedl 7 U gt I &1 904 I

1.D,E, B, A C

b2

.E,C,A.B,D
3D EACB

4.E.D,A,B,C

Question Number : 39 Question Id : 3421233713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following National missions come under the National Action Plan for climate
change?

A. National Solar mission

. National Water mission

. National Green Hydrogen mission

. National Mission for Sustainable Agriculture
. National Mission on Sustainable Habitat

HON®

Choose the meost appropriafe answer from the options given below:

1.A. B, CandD Only

[

. B, C and E Only
3.C.D, E and A Only

4.D,E, A and B Only

Question Number : 39 Question Id : 3421233713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%@Hﬁﬁﬁﬁmw,mmWWW(mmﬁm
87

A. TP IR el (AeR) e
B. IPT oid A=H
C. P A RS fHRH
D. IV SHEanil HeRufia HiY ffH
E. 191 afuaitl derofia qafarg frg=
A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1.Hdd A, B, C 3R D
. Had B, C 3R E
3. $HddC. D, E 3R A

4. HddD.E.A3RB

b2

Question Number : 40 Question Id : 3421233714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
Organism Trophic Level
A |Lion I. | First Trophic level
B. |Trees II. | Second Trophic Level
C. |Fish III. | Third Trophic level
D. | Grasshopper IV, |Fourth Trophic level

Choose the correct answer from the options given below:

1. A-1, B-1IV, C-II, D-IIT

I

. A-IV, B-1, C-1II, D-II
3. A-1l, B-1II, C-1, D-IV

4. A-1I1, B-11, C-1V, D-1

Question Number : 40 Question Id : 3421233714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A =R L |gyn giel &R
B |3 11 | fercf o =R
C. |gadl 101 | it aret 'R
D. |fegi g | v | =g ot =R

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1

2

Question Number : 41 Question Id : 3421233715 Question Type : MCQ Option Shuffling : No

. A-L B-IV, C-I1, D-III

. A-IV, B-1, C-1II, D-II

. A-IL, B-III, C-1, D-IV

. A-IIL B-11, C-1IV, D-1

Correct Marks : 2 Wrong Marks : 0

According to National Credit Framework (NCrF). the credit level earned after obtaining

Bachelor's degree (three years of undergraduate programme) will be

I

[

Question Number : 41 Question Id : 3421233715 Question Type : MCQ Option Shuffling : No

7

h

h

h

h

Correct Marks : 2 Wrong Marks : 0
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PG hfSe BHID (NCrF) & 3FTIR Hdd &1 IUlfY (fhdt +it di a9 & sfszasue g
Tt B3 & U4Td 3ifSid hige B wR ghl-

S

]
LA
Lh

7S]
=)
L.}

e
h

Question Number : 42 Question Id : 3421233716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The acronym ‘APAR" for the student ID stands for:

1. Authentic Permanent Academic Account Registry
2. Automatic Personal Academic Account Registry
3. Automated Permanent Academic Account Registry

4. Authentic Personal Academic Account Registry

Question Number : 42 Question Id : 3421233716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following flagship programmes in chronological order according to their years of
launch.

A. Naya Savera- Free coaching and Allied Scheme

B. USTTAD

C. Pradhan Mantri Jan Vikas Karyakram

D. Maulana Azad National Fellowship

Choose the most appropriate answer from the options given below:

1.D.AC.B

2.4, D, B.C

3.B.C.D.A

4. A.B,C.,D

Question Number : 43 Question Id : 3421233717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A major defect of the sargeant plan was

1. Integration of education with economic institutions

t2

. Emphasis on social sector
3. Too much importance to technical education

4. Highly selective admission to colleges

Question Number : 44 Question Id : 3421233718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following recommended the linkages of Universities with outside autonomous
research organisations?

|. Indian Council of Medical Research
2. Education Commission ( 1964-66)
3. Indian Council of Agricultural Research

4. Caleutta university Commission

Question Number : 45 Question Id : 3421233719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Id : 3421233720 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Assamese or “Asomiya’ is the most commonly spoken language in the state of Assam. Besides. it
also serves the purpose of a link language in the whole region. As a language, it is considered to
have evolve out of Magadhi, a form of old Prakrit language. However, on account of various
influences over the vears the language has come to acquire some variations in its form of speech.
These are called the groups of dialects of Assamese. Of these, the eastern group of dialects is
spoken mainly in the Sibsagar district and its adjoining areas. Similarly, the central group of
dialects is mostly spoken in the Nagaon district and the areas adjacent to it. In the west, on the
other hand, there are two distinct groups of dialects. These are called the Goalparia and the
Kamrupi groups.

Bodo or ‘Bo-Ro’ is another important spoken language of the state. It belongs to the Tibeto-
Burman language family and is mostly spoken in the areas coming under the Bodoland Territorial
Council, where it is the official language. By the 92nd Amendment of the Constitution of India
2003, Bodo has also become one of the 22 scheduled languages of the country.

Sub questions

Question Number : 46 Question Id : 3421233721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From which language is Asomiva considered to have evolved?

1. Tibetan
2. Magadhi
3. Angika

4. Thai
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Question Number : 47 Question Id : 3421233722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which group of dialects is spoken in Sibsagar and adjoining areas?
1. Southern
2. Eastern
3. Western
4. Northern

Question Number : 48 Question Id : 3421233723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which groups of dialects are spoken in the western regions of Assam?

1. Goalparia and Dimasa
2. Kamrupi and Karbi
3. Goalparia and Nalbaria

4. Goalparia and Kamrupi

Question Number : 49 Question Id : 3421233724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the official language of the areas under the Bodoland Territorial council?

l. Rava

2. Asomiva
3. Bo-Ro
4. Garo

Question Number : 50 Question Id : 3421233725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the link language of the region as mentioned in the passage?

1. Asomiya

t2

. Bodo

3. Nagamese

o9

. Kamrupi

Question Id : 3421233720 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Question Number : 47 Question Id : 3421233722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YT HRIY 31 919681, Uid &3l SThril| |
SR ferdl 3fifesgi I TWHIPR ¢ -

1. YGdeH IRl

2. TUIRTETE AN <3G

3. ASIg ST

4. JHIRETTT FHIS]

Question Number : 74 Question Id : 3421233749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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- fordl TaH1at 11g Y $URI dgareid Yisand g -
L. THY 9R1
TR YTat
3. 3fqeardl

4, IR Bl

f-2

Question Number : 74 Question Id : 3421233749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ferd] w19l gig g $oRdl d-gardrd gisar g -
1. 9HY R0

TR el

3. SRS

4. AR BId

[~

Question Number : 75 Question Id : 3421233750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DD e IHIGRIAAHE G -
RIRIECHGIRIN]

FRigdg wRfcan
 TRAR Y

4. sioferret foof

—

B

[FS]

Question Number : 75 Question Id : 3421233750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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PP Ya3 IFAHRIA AT G -
RINICEEE IR

Rigdg wfaa
 HCIeR Ty

4. stoferre feamoft

—

[~

L8]

Question Number : 76 Question Id : 3421233751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ferReisT |ig Y $UMT U= SieTd A2Ed SRl A+ g -
1. SIS

3T Ul

3. R R

4. o dHUi g dig

[

Question Number : 76 Question Id : 3421233751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- ferReiaT AT Y HURMT U= SieTd A2Ed SRl 1+ g -
1. SIT-EST

3T Ul

3. YRR U™

4.0 dHuil g dig

B

Question Number : 77 Question Id : 3421233752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘gl i ST I ACH DR A A E -
AR YT
. QB URID

. HTTdd! UG SRl

[—

[

LS

4. TTRER &6 =01y

Question Number : 77 Question Id : 3421233752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Gaql fhedl BT Y ACHHR A AH ¢ -
. SARTH YTl
. gH0 gD

. HTTdd! UG GREI

[—

[t

L8]

4. TR &1 a1y

Question Number : 78 Question Id : 3421233753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl gR e sryfed ardl r=faar g -
L. TG UHTR
2. ST TIg I
3. AT A RGBT

4. R TR

Question Number : 78 Question Id : 3421233753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gl gR e sfad i T =iarng -
1. HAIER UHIHR
2. 8 HAET IHI

3. IMATY AN URBT
4. g ISR

Question Number : 79 Question Id : 3421233754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g Y HE IS, YR A P |
1S H Groll, YR a9 feeedt ol
fiag -

1. ARl

2. HOId
3. vy
4. gialel

Question Number : 79 Question Id : 3421233754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I3 Y U U5, YR A SIS |
IS § GMall, YR 919 feeett A STl
IS -

1. @RI

2. HUId
3. 39y
4. olald]

Question Number : 80 Question Id : 3421233755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TTSTad AU Goid SSIad] = WUl G- adi fdh 07 41 g Al 9 4R07 ] -
1. T

G

3. dRTHT

4. STl

f-2

Question Number : 80 Question Id : 3421233755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-

SISIdd dIHIUIR Gold SI1SIdi - WUl §R= ¢dl {01 411 g Hdl ¥4 4R fha -
RG]

|

3. dRT!

4. Sl

[~

Question Number : 81 Question Id : 3421233756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSR] A1 fh Ul 318 el Sild -
1. diTg

Tedrs

3. Harg

4. ARATS

[

Question Number : 81 Question Id : 3421233756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IRCINIS
2, liiaa 9
3. HaS

4. ARAIS

Question Number : 82 Question Id : 3421233757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

~@1] Gl g, HUSi IR 91 gy

SU Ugdl I 3RY G -

1. 3HH
2. Bl
3. eI
4. Hel

Question Number : 82 Question Id : 3421233757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“BIel Gl gy, HUS IR 91 gdry”

U1 Ugell 3T 2RYU§ -

1. 3MH
Hial
3. AT

g

I

Question Number : 83 Question Id : 3421233758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST ATl (JHHY)
IR IR INERIS)
. 31T T (fSerrs)
4. SO AT (3ETYR)

—

f-2

L8]

Question Number : 83 Question Id : 3421233758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST AT (HIhR)
. 31adt A (FRITs)
- 31T 71l ()
4. TSI AT (3ETTR)

—

[

L

Question Number : 84 Question Id : 3421233759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ty ISRl U= d91dl 8IS § -
L gl

. dIdUs

B

AT gRT
4. fheTg

P8

Question Number : 84 Question Id : 3421233759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fUgars: ISR U= 9 3lS © -
L gl

. dIdUs

f-2

AT R
4. fpTIG

L8]

Question Number : 85 Question Id : 3421233760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST H gy o4 AitTfeed fiars i -
| HBThg

T

HTTY 3T

4. Sobdil

[~

L

Question Number : 85 Question Id : 3421233760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS ¥ gay ol Aitfesd e g -
1. PolhG
g

B

[FS]

g3
4. Sle5dl

Question Number : 86 Question Id : 3421233761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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STl ST AT I YH1RH fh07 U1 Y gd -
1. ST 2 TR, Aol
TSR HIWT, e Ud T 3fpIcHT, sk
g MY GIa8H, S&a93

[~

LS

.

Question Number : 86 Question Id : 3421233761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STATCH Sifd AT 3 YT fhor =T gd -

1. ISTRYTT =Y G-y, ol
 TSRITHT HIWT, Wfgd Ud Wi preH!, SR
 GdTg Y GiagH, 3¢auR

[

Ld

=

Question Number : 87 Question Id : 3421233762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y GG H qryRefiaRor i drd gay el Hor i
1. ST W’

. Yg dide

g I

B

P8

4. MEATS

Question Number : 87 Question Id : 3421233762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y ST T QYRS i o1d 99 Gefl H0T H
1. 3R WRd

. Yg e

RIIECR) I

4. Mg S

f-2

L8]

Question Number : 88 Question Id : 3421233763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foTor @ 31 U g | 23 |G 31| U g T [dHRT 3R [q4H G gd 1 301 ¥ ol 94 23
HEATEI Y 901 3R 13-10 1Y Ifd gd. SURTAH G -

1. Argioft

2. 2AHIcd
3. Ut

4. QU

Question Number : 88 Question Id : 3421233763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o101 &€ 31 U dob | 23 |G 31| U g T [dHRT 3R [a%H G gd 1 301 X ol €4 23
HEATG Y 907 3R 13-10 AT A g4, SURTAM @ -

L. Argio
2. AHId
3 U]

4. Ul

Question Number : 89 Question Id : 3421233764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl SHaRal TRe, g o141 YT |
forsrar form dfsar, Tisrerst @d| 1
&R 4 siifesdi d HurE! 9o 9irs SddR g -

L. 3G Hes
A HS
3. 3ld He
4. 90

R

Question Number : 89 Question Id : 3421233764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“fHyeTdi S A3e, I J1¢ U |
oI form Gfsal, aierdrst i1
IR 3 3iifcsai H HUR 3G WS AP R ¢ -

1. 3G Hes
2. A Hb
3. 3id Hes
4. 90>

Question Number : 90 Question Id : 3421233765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 URUIT X RGAT® ffl fa8 uR #-AH €91 Y quiF fdhdl Sird, 3uH Hurl by gd -
1. UfTTes]
2. BIDID
3. Al59q

4. 3y

Question Number : 90 Question Id : 3421233765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o] URUIET Y Rae faoft fa¥ uR w1 €1 g quid fadl Si1d, Su U] Sreeiy gd -
1. il

. Sddld

3. A8q

4. 3¢y

f-2

Question Number : 91 Question Id : 3421233766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STeH 3 &6  Seell Y Uefl T wgl vH g -

A Ud gRem
B. Yd &ia@
C. Id qIg odrd
D. Hd IUIGH
E. 3{ar gl

ﬂﬁﬁ?ﬂ“ﬁ:

1.A;B,C,D, E

2.B,C,E.A.B
3.C,A.D.B.E

4. E.D,B,C,A

Question Number : 91 Question Id : 3421233766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST {6 g ogcdl YUl A eI hU g -

A. Ud giary
B. Yd &ia@a
C. Id qIg &drd
D. 9d TRUIGH
E. 31y qerdl

ﬂﬁﬁ?ﬂ“ﬁ:

1.A,B.C.D.E

2.B,C,E.A.B
3.C,AD.B.E

4. E.D,B,C, A

Question Number : 92 Question Id : 3421233767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HERI R Uell Y S5ell Wel I T -

A. gHad
B. ®HUdT
C. [Aspan
D. ¥q
E. 3UIg

Fﬁ(’ﬁﬂ'ﬂuﬁ:
1. A, C, B, E, D
2.B.E,A, D, C
3.6, D E AR

4. D,CE B A

Question Number : 92 Question Id : 3421233767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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GBI A Uell § Sgell GE A E -

A. GHad
B. AT
c. fspH
D. ™4
E. SUgH

ﬂﬁﬁ?ﬂ“ﬁ:
1.A,C,B,E,D
2.B.E.A.D.C
3L.CDEAB

4.D,C.E,B.A

Question Number : 93 Question Id : 3421233768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e wRfcan § Tt 3 s § €6 9 (gl g Oedh IS pH § -
A fayr=1 uardt
B. HIdH &1 a1
C. delul &l §ils
D. HIR faarg
E. BIcdh] Sl

Fﬁ(’ﬁﬂ'ﬂuﬁ:

1.A,B,C,D,E

2.B,C,D.E,A
3. DLE B, CA

4 E.C.A.B.D

Question Number : 93 Question Id : 3421233768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fRraes wRfaan § 3=t 3 TWAHe 9 €18 9 (gl g Uelh I8 HH @ -
A. fayr= yarsi
B. HI] 31 Hal
C. geIul ®l Tl
D. HIR faay
E. BIcdh] Sl

ﬂﬁﬁ?ﬂ“ﬁ:

1.A,B.C.D.E

2.B,C,D.E;A
3. DLE B CA

4 E.C,AB.D

Question Number : 94 Question Id : 3421233769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STeA 3 <6 § Uefl Sl 98t PA T -
A, fhurF1gen
B. 3ig IAf
C. AR USRI
D. doIdg ST
E. TIRYARIE Iarad
ol 3<% JUI:
1.B,C,E,D, A
2.C,B,E. A, D
3.D.E,A,B,C

4. E.A,C,D.B

Question Number : 94 Question Id : 3421233769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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StaH 3 <ie Y Oef  Fgcll 9t A -
A. fburqrgen

B. 3ig 3

C. 3FE=< USRI

D. Aol S

E. TTRYARIE 2Rarad

ﬂﬁﬁ?ﬂ“ﬁ:

1.B,C.E.D. A

[

A BEAD
. DLEABC

4. E.ACD.B

Question Number : 95 Question Id : 3421233770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

! g X1 gl G Ucll 981 hH S -

A BRI
B. oA Il

C. FITHE! T
D. | !

E. UdTd 0

Fﬁ(’ﬁﬂ'ﬂuﬁ:

1.A,B,C,D,E

]

EAE DB
3.E,A,B,C,D

4. E; DA B, C

Question Number : 95 Question Id : 3421233770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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! e 1 I Becdl Y Uell Gel A T -

A. BRI
B. 3 I

C. THE! I
D. IH !

E. Ui Il

ﬂﬁﬁ?ﬂ“ﬁ:

1.A,B.C.D.E

[

ACAE DB
3. ELAB,.C.D

4. E.D,A,B,C

Question Number : 96 Question Id : 3421233771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR, Wl RivETR, e, g faRe Tamai 3 Ol © Sl v T pH © -

A. gR i ug
B. da? I velRRg gH
C. TRAHYH UGHEd dlug

D. R ™
E. T[0T SYRI0T

Fﬁ(’ﬁﬂ'ﬂuﬁ:

1.A,C,D,B,E

]

AVEB LA
3. L BA CE

4. E;D,C,A B

Question Number : 96 Question Id : 3421233771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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JIRdT, T, THOMTR, {fd. U idud Ta-mai 1 Uedl § el S Ul HH ¢ -

A. R U uas
B. 3[ddR 31 ¥eig A
C. T9HYH UGHTddl dlTs

D. BRI
E. T[0T STYT0]

ﬂﬁﬁ?ﬂ“ﬁ:

1.A,C.D,B.E

[

AEB DA
3. D.B,ACE

4. E.D,C,A, B

Question Number : 97 Question Id : 3421233772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HTEt § <t ¥ el I S5l I8l A B -
A. HIIHR dIgeciRE

B. da1dIdRY

C. SIdGaRTg

D. FEUTA oTUTeRMg

E. sdd darery

Fﬁ(’ﬁﬂ'ﬂuﬁ:
1.A,C,B,D,E
2.B,ACED
3. DLEAC B

4 E D C B A

Question Number : 97 Question Id : 3421233772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Gl $ €18 Y Ul § @gcll Ugl hH @ -
A. HIA4R SIgIaRY
B. 3
C. Sid oY
D. G dSUIeRY
E. ggd Jiaer™

ﬂﬁﬁ?ﬂ“ﬁ:
1.A,C,B,D,E
2.B,.A,CED
3. DEACH

4. E.D,C,B,A

Question Number : 98 Question Id : 3421233773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afer wfee 3 Ul 9§ gl el A © -
N ERIIGEIR]

B.3d dd

C. SR dd

D. hiel el

EEAGIT|
ol 3<% JUI:

b 806 By DL F

2B ACED

3.C,D.E.B.A

4D E,CA B

Question Number : 98 Question Id : 3421233773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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afer Tifge 3 Ul § Sgell Uel P © -

A. Fagufa dfer

B. I3d dd

C. S 9d

D. B4 dfd

E. G-t dfct
ol 3= JUII:

L& G B DL E

2B.ACED

3.C,D.E,B.A

4.D,E,C,AB

Question Number : 99 Question Id : 3421233774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 3 e 9 Il O gl I8l P © -

Fﬁ(’ﬁﬂ'ﬂuﬁ:
1.A,C,D,B,E
2.B,D,C.E,A
3 EADB

4 DA B CE

Question Number : 99 Question Id : 3421233774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FATHIA 1 16 Y Ul Y el gl P ¢ -

ﬂﬁﬁ?ﬂ“ﬁ:
1.A,C.D,B.E
2.B,D,C.E;A
3.6 EATDRB

4. D. 4B, C.E

Question Number : 100 Question Id : 3421233775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e RN R ERIR
A, JHRE!
B. TtTe RRAT
C. 3ddR Iikd
D. IH I
E. 3R O UM

Fﬁ(’ﬁﬂ'ﬂuﬁ:
L. AB. D E, 0
2.B,A.E €D
3.0 DA BE

4D E,CA B

Question Number : 100 Question Id : 3421233775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RTH BT I Fgell Y Uefl T A -

A, IER

B. fUTe FRRIAMT
C. ddR IRd
D.IH Y

E. TR S UH Y

ﬂﬁﬁ?ﬂ“ﬁ:

1. A B, D E, C

2.B.AECTD
3.C,D,A,B.E

4.D,E,C,AB

Question Number : 101 Question Id : 3421233776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g d, To0H, SIS, U I, S0 09 gaei 3 Ut Y dgd Jel HH © -
A Tagel
B. RGN
C. Sivl[es
D. dFR
E. TRVl

Fﬁ(’ﬁﬂ'ﬂuﬁ:

1.A,C,E.B,D

2.B,A,D.E,C

3.6, B A DE

4 E DG B A

Question Number : 101 Question Id : 3421233776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tead, T8, SIS, U I, SUS g ol 3 Ut Y S5l Igi pA ¢ -
A TEPe
B. RGN
C. Sl
D. IR
E. TG0

ﬂﬁﬁ?ﬂ“ﬁ:

1.A,C.E.B,D

2.B,A,D.E,C
3.C,B.A,DE

4. E.D,C,B,A

Question Number : 102 Question Id : 3421233777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3THE, TR, TWRY, 2RH, T 3 [ gaaf A HH: el Y Sgol T8l A g -

A HYIH
B. Rdld
C.¥id
D. @il
E. UXHIRY

Fﬁ(’ﬁﬂ'ﬂuﬁ:

1.A,C,D,B,E

2.B,A,CED

3.6, D E AR

4. E.B,A, D, C

Question Number : 102 Question Id : 3421233777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TG, TR, WRY, 4RH, AP ¥ [ gaa! A HA: Ieft Y Sgeft gt Hr g -

A, 3EYLH
B. Rdlldh
C.%did
D. Wil
E. UHRY

ﬂﬁﬁ?ﬂ“ﬁ:
1.A,C.D,B.E
2.B,.A,CED
L.CDEARB

4. E.B.A,D.C

Question Number : 103 Question Id : 3421233778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR Sff, YR Y (1A, Yol A1, SRS, ISgdroil Hgiuil I HeviihRi A HHR: Uil
SERRISHEZ S

A. d&i HURI d8Tad

B. g ISTRRIfRd

C. AHAR™ SRt

D. H0fE IRES

E. HRCIER AT
Gﬁaﬁ?qﬂﬁ:

1.A,C,B,D,E

2: B E A€ D

3.D;B,C.E;A

4.E,A,B,D,C

Question Number : 103 Question Id : 3421233778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AR Sil, YR U [qUTd, oIl 910, SRS, ISgdroil Hgroil I HeviidRT A HHr: Ul
Y Sgcll HSTHAE -

1.A,C.B,D,E
2.B,E.AC.D
3.D;B,C.E,A

4. E,A,B,D,C

Question Number : 104 Question Id : 3421233779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dicbiery I SIAR Tl Hifd HoRl, 396 IRAI, YRSl YT, TERIC B! T-1di 3 fauas]
3 €16 Y Haer: Uell Y ecdl 98I A © -

A. 10T BHIIR 31 a1 u=idn

B. G gigdl

C. T 441 9U™

D. AMMHAR 3R WRART 90
E. Hifd-fFexgor

Gﬁaw‘rl??ﬂﬁ:

1.E,D,C.A B

[

DAB,C.E
3.C,DABE

4. B,E,D,C,A

Question Number : 104 Question Id : 3421233779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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JiBIG 3 SR dra-1, i HoRl, 94 IRdT, YIelle YNUT, §IRIC Sy Id-1di I [aias]
3 dle g »uer: Uoll § gcll el U g -

A. 10T SRR 31 a9 u=in

B. G AfgH

C. Tl Hars §amm

D. ANMHAR 3R WRART THT
E. Hifd-fAgaaon

'\':I_Eﬂ'mﬂuﬁ:

1.E,D,C,A,B

2. D4, B, C.E
3.C,DABE

4.B,E,D,C,A

Question Number : 105 Question Id : 3421233780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R YT, Yd-Ud, TRY, 4TS, Ban 9ia A garqul drell dibdyrai 3 Wl Y Ul Jol HH ¢ -

A. Tt 3 et 5.
B. 71T ] Wifesq]

C. T 3 Sl

D. STSil-SdRSil

E. di<al §R

ﬂﬁ(‘ﬁﬂ'ﬂ“ﬁ:

LB D E

2.B.C.A,DE

3.C,D,.E,A,B

4.D,E,B,C, A

Question Number : 105 Question Id : 3421233780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ORT YT, Yd-Ud, TR, YrSdil, e 9ika 9 9d9ul diell b s ydl 3 el Y Uedl Gel HH ¢ -

A. 91di 9 filedri 9g
B. 7413 Gifesq]

C. T 3 Sl

D. SISI-SIdRSI

E. diedl dR

ol I JUIl:

L. A B, D E, C

[

. B, C,A,D,E
3L.CDEARB

4.D,E,B,C,A

Question Number : 106 Question Id : 3421233781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ISR sifer dred Aidiare AR i e 4 agt Hu g -

A.Wﬁﬂ%ﬂ@ﬂﬁ%ﬁﬁwmﬁ@awﬂﬁmﬁ?ﬁwﬁﬁ?ﬂ
11 1 faed |

B. geral H Rl 3R HRATS! Gl I THIG §AM Y g ¢@01 - fid |

C. TS ORI I TSI &7 8, U1 aTe | H1Y RT3 dig Uyd 71 A1 34|

D. HIeId X oY H dIciiSor 9redt XATSh sgid 3 U131 3R hIFd YN g

E. HATd Sefay-HRaTR Y SaR1e- 101 41T 3R faeeh X fExaune 75wa & arell S|

o1 Iax JUIl:

1. WIdA,B.E

2.WIdA.B,C.D
3.WdB,C,D,E

4. W®IdB,D,E

Question Number : 106 Question Id : 3421233781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ISR Siferat dTed Aidiare HmRar i e 4 I8t du g -

A. éﬁiﬁﬂ%ﬂ?ﬂﬂﬁ%ﬁ?ﬁwmﬁ@& YR 3 fapolt goit Y o ol
3T At fad |

B. ¢elal H oRIdl 3R ARATS! G I UHIG GAH ¥U § @0 - fied|

C. 9IS ToRId 1 US4l 94 8, Y01 drTe! {1 TeRId1 I Bl UHTd 77 =T 3114 |

D. HIdT X A5l H dicllor aredl TSl sgid 3 HIdT 3R HiHe YN g

E. HaTd! 3AaR-HIAYR ¥ SARIG-ATYUT HAT 3R [eeed] ¥ [eguIne 7187a H dietl oiid |

ol IR JUIl:

1. BWI[dA,B.E

2.WIdA,B.C,D
3.WIdB.C.D.E

4. BWIdB.D.E

Question Number : 107 Question Id : 3421233782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST, SRl AT 4RI X goid f377e 3R e fawgs gl Hu ¢ -
A. TUTTet oR 571 <1 =ARl-ART HiTat g |
B. 3 GIHi 3 T 0], SR 3R Y id 1 s fH=dr 1 |
c. TS U WA © ¢ Gl ISR IR d da IR el TS RIS |

D. ftvrel Gifge R 8 9R0r ©fqgi I YA SRR ARIEH ¢ |
E. fS$7a # daya geal oR suywr I ie-fg e 3 @it = umgi xrgor 3 ugftd e sid)

ot IR JUIl:

1. WIdA,B.C

2.WTdA,C,D.E
3.WdA.B.D.E

4. WpId A, C.E

Question Number : 107 Question Id : 3421233782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SI. SRICT AR ¥ goid fS71el 3R TUvred fava s 9el o4 g -
A. TUTTet oR fE71d <1 AR HrEi g
B. 3 GIFI 3 AT 0], SR 3R U id § dls fH=dr =i |
c. 77 U W S Gl A9 RE d e IR Lcll JRE Rl |

D. fthiTe Uifged R & IR Hiddi I YA SRR FieH gl
E. fS$7Ta # daya gegl 3R suyw § ie-fec 3 @it = umat g 3 ugftd 0 sd)

ol I JUIl:
1.HId A, B, C
2.IIdA,C,D,E
3.WIdA B.D.E

4. WIdA,C.E

Question Number : 108 Question Id : 3421233783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T4l HIdRM |y Y gold -HeRUf d1dd 9gl HU9 © -

A. QX T&1 5o UT6 Uenll, 9iR1 9R-¥&Y U IR_1 1l # ferarqur § ufdar -ggroft
Ferord] |

B. UIgTes| H g f&4 HUrms ¥ |1e @flet! U b ggRUll gl ddl |

C. HgRUil H faeidt 3R dddb Y U feurd-fhdid I HiTes] UgTST dleiioidi|

D. HgRUil < §iTes] eTeR Hifgd ¥4 Y -Tuull dhadr|

E. HeRUI H Fiequr 3 a9 ferRgur 118 9ol SR {3 |

ol I JUIl:

1.BIdA,B,C,D

2.WIdA,B,D,E
3.WIdB,C,D

4. WIdC,D.E

Question Number : 108 Question Id : 3421233783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T4l HIdRM ey Y gold -HgRUf d1dd Ugl HU9 ¢ -

A. QX & SehT UT6 Uerll, IiR1 UR-Y&Y U g1 il # ferarqur § ufdar -ggroft
CERH

B. UIgres] T g3 f& Hums ¥ |1e @fled] U b ggRUll g1 ddl |

C. HgRU # f9a1dl 3R Bdd> Y U fga1e-fhdld W HiTesT UgTST Sieiioid |

D. HgRUfl < §ires] eleR Hifgd =4 g ol bddl|

E. HeRUT H ol 3 Soird fergur /118 9ol $iR [l |

'\':I_Eﬂ'mﬂuﬁ:

1.WIIdA,B,.C,D

b2

.WIdA,B.D.E
3.WIdB,C,D

4. WIdC,D.E

Question Number : 109 Question Id : 3421233784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A1 fere /g Yigarde 931 944 § -

A. BRI
B. fi=@qu

C. ¢S
D. 4315
E. dicl

ﬂﬁﬁ?ﬂ“ﬁ:

1.WIIdA,B,.C,D

t-2

.IdB,C,D,E

LIS

.WIdA,C.D.E

4. pTdA,B.D.E

Question Number : 109 Question Id : 3421233784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1 ferenl /g Hiddras 931 944 ¢ -
A. B30
B. fH=@qul
C. DS
D. 935
E. dd
ol 3R Uil

1.BIdA,B,C,D

]

.IdB,C,D,E

(a2

.WIdA,C.D.E

4. TdA,B.D.E

Question Number : 110 Question Id : 3421233785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oI Reft 3 favami € -

A. TABIRDT U MU

B. [darumésd

C. UldeTires Ta1di 3 3fHa
D. difdhds HINT I YIR]

E. U e 3 U=l

o1 3<% JUI:

L. ®IdA,C.E

2. WIldB,D,E
3P C.D.E

4. WIdB,C,D

Question Number : 110 Question Id : 3421233785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. TABIRDAT U MU

B. [darum&ds

c. UldeTie T9=mai U 2AHa
D. difdrds HINT I YIR]

E. U e 3 U=l

ol IR Ul

1. BIdA,C.E

2. WIldB,D,E
3P C.D,E

4. BIdB,C,D

Question Number : 111 Question Id : 3421233786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS STed Hel DU G -

A. 37X fOdTSit 3 =19 dige St gl |

B. S AT § & SISl 1 BT, 1 3 ol fHeraor 9 ArMl ¢dt /1 giar deiiat|
C. STl fd i g 31 Siid S x|

D. dRT 3T GIS-eTY SIS I Sao=Rd fere|

E. 91 U 1™ dicglSil dlegl $id 3Tl

o1 3<% JUI:
1./IdA,B,C,D
2.%9KIB, €.D.E
3.IdA,B.D. E

4. IdA.C.D.E

Question Number : 111 Question Id : 3421233786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 94/134



8/24/24,12:32 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

A. 37X fOdrsit 3 =19 dige St gl

B. U AT § & SIS T 1, 31 A Jmgon fHerdur URs AFiRi ¢l 3 Sial aeid|
C. SISl f1d i g 31 Siid S x|

D. dRT A GIS-aTY SIS I Sao=Rd fere|

E. 91 U g dieglsil diegT $id 871
ol IR Ul

1. A, B, C.D

2.WIdB.C.D.E

3. B A. B, D, E

4. IdA.C.D.E

Question Number : 112 Question Id : 3421233787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el {499 Hid a1ad I HUH © -

A. 20 “HEULEgRl A G Ui Srofisl|

B. 3 T GIUG! TR H1Y YTRI T |

C. SURI TGATHR Hid IHATY Hid1 gl

D. 3 AN &5 1 ferReaiSl g

E. 3URI 351 Hid 3car I fdbel H &l ¥adi |

ot 3<% JUI:

L. ®IdA,C.E

2 BildB, C,D
3.WIdB,C,D,E

4. IdA.C.D.E

Question Number : 112 Question Id : 3421233787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Zuc! {999 Hid I1dd YT S ¢ -

A. 30 “HEULFgRI A G Ui Srofisl|

B. 311 391 GIUc] TW@ddR °1Y 3eTRd ¢ |

C. SURI TGATHR Hid IHATY Hia1 Tl

D. 3 AN &5 H el g

E. 3URI 351 Hid 3AdarR Y fdbel H &l adi dal |

ol I UIl:

1. BIdA,C.E

2.WIldB, C,D
3.7[dB.C,D.E

4. IdA.C.D.E

Question Number : 113 Question Id : 3421233788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST GET d19d S HYU © -

A. 31 &gl A 1 o g1, Sl Wi 3 ardiie] gl

B. HIq AT TR = [HRURTH Y SHiadl A T o 307 Hid I 311 B |
C. 3 Hid GRS g8l d RWISI B

D. 31 ISR G4 $Ted QRT3 g g

E. 31 ST 3 furer 2redt 3 ufafie =1 A |

ﬂ%’faﬁ?qtrﬁ:

1. BPId A, C.D

b2

.IdC,D,E

LS

.IdA.B.E

4. WIdA,C.E

Question Number : 113 Question Id : 3421233788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TIELIE el didd 31'~FIE‘3I$2F[%-

A. 31 &gl A TRd1 o g1, Sl Wi 3 ariiel gl

B. Hid ST SR TR [HURM Y Bl A 1 ol 201 Hi 3 -1 D |
C. 3 Hid GRS g8l 1§ RWISI B

D. 3 ISR G4 $Ted QAR 9 g

E. 3 o713 fierer 2redt 3 ufafie =1 3|

ol I JUIl:

1.WPId A, C.D

2.IdC,D,E
3. WIdA.B.E

4. WIdA,C.E

Question Number : 114 Question Id : 3421233789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DT ISR HAGET dTad Hel DY E -

A. AT IR 3T 3R SHHT ¢ WGl A1 WY dai I W1 B |

B. HRIh{d GRS 618 Y PIATHS YdTg HRUT ded! IR BRAR Sl Iiure o |

& Qﬁaﬁaﬁmﬁuﬁm?fmﬁmﬂmm 3 T 3fTadl, AR Y |I A1 Y HRUT HaidE
quUI a|

D. DA Tarddyds] I I ATl T H Ueh AR A R &0 4 Gal R g

E. ! 12l sfrefiqur darl ¥t 3R wifaka | "o aidi oo Risor &4 |

ol IR JUIl:

1.WIdB,D. E

2.WIdA,C,D
3.WIdC,D,E

4. HIdA,B.D

Question Number : 114 Question Id : 3421233789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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BT ISR HaGEa! dTad Hgl DY G -

A. AT IR 3T 3R SHHT ¢ Wil A1 WY dai I W1 B4 |

B. HETH{d PRI A3TS Y HIeATHD HaTg BV el IR BRAR $Hafde! I ¢ |

C. Qﬁgﬁmﬁﬁmﬁmﬁdlﬂmwﬁ S T 3MTadl, AleaR 3 Tic A1 I SR HaidE
qUIda|

D. DA Tarddyd] I I WITcH T H Ueh AR A R 0 6 Gdl R g

E. It 12l efrefiqur darl ¥t 3R wifaka | " adi oo RS & |

ol IR JUIl:

1.WIdB,D.E

2.WIdA,C,D
3.WIdC,D,E

4. HWIdA,B.D

Question Number : 115 Question Id : 3421233790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

®id grgisll 2l <6d Yl HYH g -

A. USSTY G diRAGd I 319 g

B. [d H™IUId (38%) di 4 dRd 919 § Y |

C. “SAUI.TTTes” A1 Y fered 317 A T ToRId 3R IS H 907l Ifdd g
D. 31 3 aluel dRegRur Uil = <afel fobu saauil I Y Sils 31ex el g
E. 311 & ferdl Arregor Swpyrdl 3 Al aiefl g

ol IR JUIl:

1. WI[dA,B.E

2.WIdA,B.C
3.WIdA.B.C.D

4. IdA,C,D.E

Question Number : 115 Question Id : 3421233790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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&id grgisll 2l <19d Ugl HY9 S -

A. US89 dRHCa 3 A% 1

B. X4 HedIUHd (38%) a1 - dRd U9 Y UIphd (6|

C. “SAUI.THTTes” A1 Y fered 317 A ST ToiRId 3R IS H 907l dfdd g
D. 31 3 gIue <R Wit A <afel fobu Tl I Y Sils 31eR el g
E. 311 I ferdl -Armeqor Soryrdt I A uiefl g

ol I JUIl:

1.BPId A, B.E

2.WIdA, B, C
3. WIdA,B.C.D

4. WIIdA,C.D.E

Question Number : 116 Question Id : 3421233791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IHyRegTe giredt § e G TeyE T S1efHd Hiddr 91dd el U S -

A.wmﬁmﬁﬁﬁumﬁﬁ%mwaﬁmﬁWQHﬁ

|

B. HRTS ‘Hpar sfder 3 9ult 91dl Hyrai 5 ugdg Hdi Alded! Hifcid Jwgra-ral B |

C. DguIdld UiSGT HUDHTT Y U= DR T Al Y 6 codi Ui, AifddTisd Bl ST,
TTfaTdl Hfd ¥ =0 o It a7

D. TAUH I SIRiT X 7fidt ¥ ®id Al iidi § Gaeradl 3R ¢l § di-il, 7 3 Hid-Tdl 3R
DYV &7 5 Al R 3ol g |

E. HUME H AT I 3R IS b1 <@ret 3 4+ 34183 Hi ¥ S 3 94y 931
IR A 91 2|

ot IR JUIl:

1.WIIdA.B.C,D

2.WIdA,C,D,E
3.WIdB.C,D.E

4. HWIdA, B, CE
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Question Number : 116 Question Id : 3421233791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR ST 3 €16 Y SR ¥ 21 Hiad a1ad el HUE © -

A.ﬂﬁﬁ}éﬂﬁﬁmﬁmﬁﬁﬁamﬁﬁ%mwaﬁmgtﬂwqw

|

B. HERTS “Hp el 3 I 9oft Irdl durai = Uerdes Hdf Al ] Hifcid Jagrd-rai Hl|

C. D-gIclc YIS YD Y TF IR T b DI I - gdi Ui, Alfddhied dH S T,
TTfdardl did ¥ = o It a7

D. YAUSH Y S X 7 dt § ®BI1d dihiidi $ Gaeraed] 3R gl g di-l, O I Uiarai 3R
DY SIS Alpiidl RRA@I 391 ¢ |

E. S H AICHIT I 3R IS didbAre <@ 3 4= T HI Y ST I 99y 31
GINEEICIGEL

ot I JUIl:

1. WIIdA.B.C.D

b2

. WPIdA, C,D, E

3.W7dB.C.D.E

4. HWIdA,B,.C.E

Question Number : 117 Question Id : 3421233792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ISR 5 BT R SGood GXTd S19d T RIS 3 <13 Y Hel U6 -

A. 3O U331 Wa: s, 3UM b 01l guf RERT 41 Ye Y SISl 7Tad 5 -, YHd i gl

B. 30T Hiddl 7 3Ud] T¥U ¢l 3R didh < 4T | Qv I Udh d1a] FaTy ISl -
U X T1H 9§ gal|

C. 30T Hidar X f[ah g IR 3. dSiidg ST 9ol githes] Al Uuy 9kl dherd H 4R f g1, T
R S gy i

D. 3UMH URER] I S5 [dR0¢ 1 g Uul Fledi 3R Wal AR - Y 3Hd1 gl g

E. 3191 X -9 ¥ SRy sifHaafdd g1 ool i Siddi I s gl

ot I JUIl:

1.1 A.B.D.E

2.WIdA.B.C.E
3.WIdA,B,.C,D

4. HIdB.C.D.E

Question Number : 117 Question Id : 3421233792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ISR 3 DI dgesd eyl dldd F-¢ HRglS 3 616 Y 9l o ¢ -

A. 3URI B 3HTd Wd: 85, 3UM a0l guf tReRT a1 oy Y SISl 7esd § =i, YHd Wi gl

B. 30T Hiddl 7 3Ud] T¥U ¢l 3R ol < 4T | GIaul I Uch d1a] FaTy STl -
U X A1H 9§ gal|

C. 30 hiddl < fah 1 IR 31, duiidfg ST guli githes] Al Uuy gkt dhetd H 4R f 1, 1l
R S g1y @t

D. SUMH TRERT R S5 (AR Al 8§ Tl Fiedi 3R AYe! AR = i #Hd1 ol g

E. 319 X =G { SURY YR B 311 3 Hidar A FE g

ol IR UIl:

1.IPTId A, B.D.E

2.WIdA,B.C.E
3.WIdA,B,.C,D

4 WHIdB.C.D.E
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Question Number : 118 Question Id : 3421233793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSR IR &19d 3T, faor Arger 3 e Y9l v ¢ -

A. SR T UM oikd- 3 G0 &1 Y3 g gdl|
B. e wRfqar 3u=ary 7 - 3if¥d Hur 14 fea|
C. UISid RS DIl §1¢ I H G drofl SU-Ar -1 Y sRTeR fordisar, Us o6l

3{RIeT 3Tl |
D. ISR ST o a ¥ YRS S{aRTd J diedi A1 S 1 AT HR01 I 99 diedred
EEEREEIRIEREICT

E. faugaed 3 <ie g eyl Y uRiYe 3= 3 &7 e Su-ari drofl eS|
T |

ot I JUIl:

1.WIIdA,B,C.D

f2

. WIdA,C.D.E
3.77dA,B,D.E

4. IdB,C.D.E

Question Number : 118 Question Id : 3421233793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TSR FUR: S19d 3T o Trger 3 e Y9l v ¢ -

A. SR T UM oidH 3 G0 & Y3 g gdl|
B. f¥a<g wRiqar 3u=amg F - 3ifHd Sur mH fear|
C. UISTd RS Hicgl Y a1 IS H G drofl Su=ard -1 Y sRTeR ferdisan, Us ofdl

SR Sl |
D. ISR ST ofa ¥ URMHE SfaRTd 9 diedi A1 S 1 AT 013 99 Hiedred
FYTre SR+ g |

E. [qugaed 3 <ie g eyl Y uRiYe 3= 3 &2 i Su-ari dofl fges]
|

ot IR JUIl:

1.WIIdA,B,C.D

I

.WIdA,C.D.E
3.7TdA,B,D.E

4. WIdB.C.D.E

Question Number : 119 Question Id : 3421233794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Jdh YREd 3 216 Y I Sl didd I HUE -

A. Wﬂﬁhéwﬁﬁmﬂﬁ 3R Hglufl ¥ TRA 3 1 B 1 AR bl 3 A6 g9y
Hard o |

B. oY UdR 3 Selfoml # eidie 3R IS Bl I dies ard|

i ?ﬁmﬁﬁ%ﬁﬁmgml 3R DgEl § 1RYR T SYRY I e_dl G ezl

|

D. ©RUfle RS 1 YN H U WY did 3R Sidd] ¢, 93 3 a9l delivmi O urg gydl sR
HRH A delesdl dit ¢gur A i |

E. 10T [t Samsul, bl 315-51S U ATy I S, 24 WWIet ardf 3 et o .
Tdl. HT31 SR 3= I Fiejeh B3 ¢ |

ot IR UIl:

1. WIdA.B.E

2.WIdB,C.D
3.WIdB.C.D.E

4. WIdA,C.D

Question Number : 119 Question Id : 3421233794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Jddh YREd 3 216 Y I Sl didd I HU g -

A. Wﬂﬁhéwﬁﬁmﬁﬁ 3R glufl ¥ TRY 3 1 B 1 AR ¥l 3 b g9y
i oY |

B. oY UdR 3 welfoml # ezidie 3R ISy Hgiiomi I dies ard|

i ?ﬂﬂ?wﬁaﬁm UG dT 3R Ded-Tdl g WRYR U0 TYRY 3 4R Y 3fesw

|

D. ©RUflE RS T YN 4 U WY did 3R Sk ¢, 93 3 a9l delivmi O urg gydl sR
HRH A delesdl dit ¢gur A e |

E. eVl faral Io18e, fhal 3TS-31S U 3Mursmy I ST, 21 TTes! ardf 3 Sorewd o o,
Tdl. HI31 SR 3= I Fiejeh B3 |

ot Iax JUIl:

1. WIdA.B.E

2.WIdB,C.D
3.WIdB.C.D.E

4. HWIdA,C.D
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Question Number : 120 Question Id : 3421233795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST SAihhUTal STed Hgl HY G -

A. did®HUE T HRI Gavl dres] gl g ¥ N & i aid |

B. dibHYI Y G&HT H TTdS Hifead] diciiol, Sl @l A1 Y S1ofie |

C. HISR BEISU] 41651 HUTF] HRE HId1-HHg 3 SRR ga|

D. dicbbYral & g o <3 A ST Dglal|

E. didHYdi § SIc1-8Icl gUl-Huld 3 diedhUTdl Y ol Id 4R drofl =1eul 9l TRy
SHUTEi oy i |

o1 IR JUI:

1.BIdA,C.D,E

2.I[dB,.C,D.E
3.3WIdA, CE

4. WIdC,D.E

Question Number : 120 Question Id : 3421233795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ISR Al dYTal d1d Ugl U E -

A. i YTd] § §HRI ¢aul are] gl § X Fdr &1 -l aid |

B. AibHYI Y &3 H TS Hifad] diciiol, Sl @l AH Y S1uiie |

C. A8 Hglol0] a7 ] HUE] RS YId-THg 3 GRDHR gd|

D. e dyTEl § &Y TMid 7 <37 A ST Hgho |

E. didHYdi ¥ SIc1-8Ic gUl-Huld 3 diedhUTdl Y o Id 4R drofl =1eul 9! Ry
SHYTdi g fIrel|

o1 IR Ul

1.BPIdA,C,D.E

2.BpI[dB,C,D,E
3.WIdA,C.E

4. WIdC,D.E
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Question Number : 121 Question Id : 3421233796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3T, Uig-eH IR X Hoid $adi < How a19d Ud HY ¢ -

A. 33 3MeR g 3R 3¢ & Uid I faxdl 9res1 griiiere! § 99+ 0 9 fid|
B. 31 G4 Sed-1 3R o1 =i gd|

C. 3 © Sariir 3qyd fhult afed & g1d snamid - g4

D. 31 3 B d BId [FRGHU BN g, 3 T 91 < HRU[ dred] S0l |

E. 311 31 HINT TR aTararor < YNl g4 |

ﬂﬁ(‘ﬁﬂ'ﬂuﬁ:

1. IdA,B,C.E

[

BIdB,C,D,E

[N

. HIdA.B,D.E

4. BPIIdA,C,D.E

Question Number : 121 Question Id : 3421233796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3T, WigeH IR §oid Hadi L Hew 919d 9d YA ¢ -
A. 3T e TG 3R 3G &I Hid I Rl ares1 Qi § 96 w0 Y |
B. 31 G Sl 3R o1 -l g4 |
C. 3 © Sariir eryd fdult ufed & a1d snumid - g4
D. 31 B d BId FRGHU BN g, 3T T 91 < BRI dred] S0l |
E. 311 3 YN TR aTaraR ol 3 Y9 g4 |

ﬂﬁ(‘ﬁﬂ'ﬂ“ﬁ:

1. PI[dA,B,C.E

[

.IdB,C,D,E

(W]

. BIdA.B,D.E

4. IIdA,C,D,E

Question Number : 122 Question Id : 3421233797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST AT 3 9= f9Rivdrai § -

A. 31 3 T 3=11d i gd |

B. 31 ¥ HYUIHH defidens gRurdl ¥ 3uR g4 |

C. 311 1 gt I F=A01 3 39l S |

D. 3 H 31 Wpidd 3R a1 Wfdaai UR= I3 31S 1 g4
E. 3 ¥ Uit & s dr fid |
ol 3= JUII:

1.BIdA,B,C,D

B

.IdB,C,D,E

(a2

. WBPIdA,B.C.E

4. WIIdA,C.D.E

Question Number : 122 Question Id : 3421233797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSI AT 3 A [9=I9drai g -

A. 313 T 3=11d i gd |

B. 31 § DUhY defiders gikardl ¥ 3UR gd |

C. 311 1 U=t I F=Aur 3y 3dhdl S |

D. 3 31fd Wipidd 3R Gdr Widaai UR= &S 3ls g4
E. 3f1 7 goiHI&Ihdr I sifedhar fird |
ol 3R I

1.BIdA,B,C,D

b2

.BIdB,C,D,E

LS

. WBIdA,B,.C.E

4. WIdA,C.D.E

Question Number : 123 Question Id : 3421233798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TRIRG]  vrferd SIE (GH) J1dd 3T HU g -

A. “GEDI" Sl ST dld A1 3S A1 YY T |

B. G SBIUAIST Y HHN |

C. IS X S UIdoli < AreTg 3T R0l Y A

D. AR Td H 93 3R 9eb¢ Gad dl IR U 3YH A |
E. gUTeS1 H, AT 9Tdl al S{Uidl =4l gIaul ST JF |

ol I JUIl:

1.WIdB,C.E

2.IdC,D,E
3. WIdA,.C,D

4. WIdA,C.E

Question Number : 123 Question Id : 3421233798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRIRGT o vferd SIE () d1dd 3T HUE -

A. "G Sl ST dId A1 3S T YY T |

B. ¥ ShUAS! Y A |

C. IS ¥ S UIgoli < Areg 3T WRIYol Y A

D. AR Td § 93 3R 965G Gad dl IR UIs HYH A |
E. BYTe5] H, | 9Tdl al S{Uidl =4l gIaul 3 ST #F |

T IR Ol

1.WIdB,C,E

2.pIdC,D,E
3.3.WIdA.C,D

4. WIdA,C.E

Question Number : 124 Question Id : 3421233799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT P Tl A 16T T DY ¢ -

A. 31 TETTE 1 91 3R YrHIiofD JY B

B. 3UMH & 09 AT g, fS0ri <qrf> A fedisai g1

C. ZUTH it 37 &1 i 31eam Y HR= gd|

D. 3UTH oy Ul -7f1d SRfear I <& ddiisT |

E. SUTH IHAY { &Yl sgid faxdr 912 [fAd g2 ¢
ol 3= JUII:

1. ]I[dB.C,D

2.WIdC,D, E

3. WIdA.B.D.E

4. pIdB,D. E

Question Number : 124 Question Id : 3421233799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

XYY TS Wil I ded T DY G -

A. 311 ST 1 9171 3R UHI0S JY g

B. 3UMH §d 09 &1 g, f0M Wi 91 fedi =i g

C. ZUTH it 37 40T i 31T Y TR= g4 |

D. 3UTH Ty Udl -7i1d 3Rfear I {401 ddisT |

E. SUTH IR0 &Yl gid faar 91d f[Ad g3 ¢
ol 3R I

1.BpIdB.C.D

2.WIdC,D,E

3.WIdA.B.D.E

4. WpIdB,D. E

Question Number : 125 Question Id : 3421233800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e fordt i ORaT e X fawm wRor  shifesai g -

A. YU Ul a1 4h
B. fHedl Ug #idHg
C. gull 3o A I a o
D. B3l 3l DY
E. 3U  IRdbd I Ud

ﬂﬁﬁ?ﬂ“ﬁ:

1. WIdA,. B, C

]

.BIdB,D,E

(a2

BIdA,.C,D

4. WIdC,D.E

Question Number : 125 Question Id : 3421233800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e fordt Ay 9ReT g ¥ fawm =9Rur & sifesai g -

A. YU Ul a1 b
B. [yl g ufadq
c. qoff 3{ufl T ara
D. Bl Bol DY

E. U RS U THh

ﬂﬁﬁ?ﬂ“ﬁ:

1. I A, B, C

b2

.]IldB.D,E

LS

WBIdA.C,D

4. WPIdC,D.E

Question Number : 126 Question Id : 3421233801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R fiers
T 1 g 11
A |fdg L |HE0g
B. |fawg I |=id3y
c |3@E 1 | 3gYd 8
D. |=® V. |[dR g

ﬂ'aﬁa?l?gtrﬁ:

1

t2

Question Number : 126 Question Id : 3421233801 Question Type : MCQ Option Shuffling : No

.A-L B-II, C-II1, D-1IV

. A-II, B-1II, C-IV, D-1

. A-IIT, B-IV, C-1. D-II

- A-IV, B-1, C-II, D-IIT

Correct Marks : 2 Wrong Marks : 0

At 1Y G 1 - Graes R [Ters
g1 g
A |Fdg I |dEu™
B |fawg I |=id ™
C. |3ER 1L | YA ™
D. |=® v |dR g

iﬂﬂaﬂ??{ﬂﬁ:

|

]

Question Number : 127 Question Id : 3421233802 Question Type : MCQ Option Shuffling : No

. A-L B-11, C-III, D-IV

. A-II, B-III, C-IV, D-1

- A-IIL B-1IV, C-1, D-1I

. A-IV, B-1, C-II, D-III

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1Y T 11 Graes R e
Tl 1 g I
A |Hars B L |SfmER
B (AR ®d | I |gag
c |eEdiwea |1 |feeATe
D |gers®@a |1V |@fer

ﬂﬁmw:

1

t2

Question Number : 127 Question Id : 3421233802 Question Type : MCQ Option Shuffling : No

.A-L B-II, C-II1, D-1IV

. A-II, B-1IT, C-IV, D-1

AT B-IV, C-1, D-IT

- A-IV, B-1, C-II, D-IIT

Correct Marks : 2 Wrong Marks : 0

At 1Y G 1 - Graes R [Ters
g1 g
A |TdrS wpd I | 3oERT
B [ARAS®d | 1L |3dTe
C. |EREWI%d | 1L |feErTe
D |gels@pa | IV |®la

ﬂﬂaﬂ?qﬂﬁ:

|

]

Question Number : 128 Question Id : 3421233803 Question Type : MCQ Option Shuffling : No

. A-L B-11, C-III, D-IV

. A-II, B-III, C-IV, D-1

. A-IIT, B-IV, C-1, D-II

. A-IV, B-1, C-II, D-III

Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R e
g 1 g 11

A |ofemserdsl | L R
B. |7licHeR Hal 1. |Frdrste

C. |Hr pusfer Hel | . | gy

D. |YeHu@ dal | V. |Sigars

g28.digialm.com/CAE/viewHtmIPDFAction.action

ﬂ'aﬂa?l?gtrﬁ:

1

t2

Question Number : 128 Question Id : 3421233803 Question Type : MCQ Option Shuffling : No

.A-L B-II, C-II1, D-1IV

AL B-TIV, C-1, D-TI

. A-II, B-III, C-IV, D-1

- A-IV, B-1, C-II, D-IIT

Correct Marks : 2 Wrong Marks : 0

At 1Y G 1 - Graes R [Ters
A1 GELpi

A |gfemeaidsr | 1L |RRE
B. |TidHsR Hal I |FRisTe

C. |Hrd1 pusfer del | . [

D. |HioH yr@l#Hal | V. |Sigars

iﬂﬂaﬂ??{ﬂﬁ:

|

]

Question Number : 129 Question Id : 3421233804 Question Type : MCQ Option Shuffling : No

. A-L B-11, C-III, D-IV

CA-IIL B-IV. C-1, D-II

. A-II, B-TII, C-IV, D-1

. A-IV, B-1, C-II, D-III

Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R fiers
Sl gt
A |gRefaas | L |fE oma g ggifis 39
B |®lagmgld | o |=melivE i
c [merRER | 1o |feHyR gR Ean faag ave e
D. |9 yi@aR | Iv. |wad & I

ﬂ'aﬁa?l?gtrﬁ:

1

t2

Question Number : 129 Question Id : 3421233804 Question Type : MCQ Option Shuffling : No

.A-L B-II, C-II1, D-1IV

. A-II, B-1II, C-IV, D-1

. A-IIT, B-IV, C-1. D-II

- A-IV, B-1, C-II, D-IIT

Correct Marks : 2 Wrong Marks : 0

At 1Y G 1 - Graes R [Ters
1 A
A |gRuEfdas | L |H owe g ugitne a9
B |®RumHd |1 |3mivs g
C. [TUmeRER | 1L |FHyR gR Eia faarg aue e
D. |qF yddam | Iv. | i fafE 3w

iﬂﬂaﬂ??{ﬂﬁ:

|

]

Question Number : 130 Question Id : 3421233805 Question Type : MCQ Option Shuffling : No

. A-L B-11, C-III, D-IV

. A-II, B-III, C-IV, D-1

- A-IIL B-1IV, C-1, D-1I

. A-IV, B-1, C-II, D-III

Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R fiers
T T
A |30 9t 9 L |Jsicyansal
B |YEig s afe| . |msu g
c |SRfEgSAa | |wHe
D. |33 T & afer IV. | GG el G

ﬂ'aﬁa?l?gtrﬁ:

1. AL B-IL C-IIL, D-IV

t2

-A-IL B-TIT, C-1IV, D-1
3. A-IIL, B-1V, C-1, D-II
4. A-IV, B-1, C-II, D-IIT

Question Number : 130 Question Id : 3421233805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 1Y G 1 - Graes R [Ters

T 1 T
07 10T L |dSi cuarsal

o g i i afa| . (meu T
RGeS dafa | o [wmer
3 T 3 Al IV. |H8S &l g

iﬂﬂaﬂ??{ﬂﬁ:

l. A-L B-IL, C-IIL, D-IV

olo|w|r

]

. A-II, B-III, C-IV, D-1
3. A-III, B-1V, C-1, D-II

4. A-IV, B-1, C-II, D-III

Question Number : 131 Question Id : 3421233806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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At 19 Gt 1+ Grae R firera
a1 e I
A |UEEC S L |Heg gieH H goRel 3RY
B. |Sgdcy I |$d 3 AU Aed oR B3 3 U igd Ug WgiT
C. |ora iy & | 1L |Hieil guie 9 & ggeil 1 Hid st
D. |¥UE Ty IV. | 7id # RI-R Saf 3 9anT

ﬂ'aﬂa?l?gtrﬁ:

1. A-L, B-IV, C-II, D-II

t2

. A-II, B-I, C-IV, D-TII
3. AL B-I1, C-1, D-IV

4. A-IV, B-111, C-1II, D-1

Question Number : 131 Question Id : 3421233806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 19 G 11+ Graee R fiara
a1 e I
A |TEdE N L |eg gieH H goRel 3RY
B. |ggd g L |58 3 S Ued oR &6 3 SFUIN Tigd ug Wi
C. |ora iy & | 1L |Hieil gui 9 & ggeil 1 Hid ST
D. |¥UE T IV. | 7id # R-R @af 3 wanT

ﬂ'tﬂa?l?gtfﬁ:

1. A-L, B-IV, C-II, D-II

(]

. A-II, B-I, C-IV, D-TII
3. AL B-II, C-L, D-IV

4. A-IV, B-111, C-II, D-1

Question Number : 132 Question Id : 3421233807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R e

I I I
Hidiena a9t | 1 [=reafs & 9. 1550 § 1950 A5
RITHEE WHT | 1L | 3R HehdIe 4. 1700 ¥ 1900 dis

R "l | I [wewera fa. 1. 1460 9 1900 91
Harm @y | IV, [geed s 1450 G 1850 dfs

‘\qﬁﬁzﬂﬁ:

1. A-L, B-IV, C-II, D-II

olo|w|r

t2

. A-Il, B-1, C-IV, D-1II
3. A-III, B-11, C-1, D-IV
4. A-IV, B-111, C-1II, D-1

Question Number : 132 Question Id : 3421233807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1Y T 11 5 Grae R s

Sl I I
Hidiena a9t | 1 [=reafs & 9. 1550 § 1950 A5
RITHEGHE WHT | 1L | 3R HedIe 4. 1700 3 1900 dis

R Aeys) | I | wegeTe 3. . 1460 G 1900 A%
Jiarmaed | IV |go@es g 1450 1850 d

ﬂﬁﬁzﬂﬁ:

1. A-L, B-IV, C-II, D-II

olo|w|p

(]

. A-II, B-I, C-IV, D-TII
3. AL B-II, C-L, D-IV

4. A-IV, B-111, C-II, D-1

Question Number : 133 Question Id : 3421233808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R fiers
T 1 g 11

A |3 L |u=t

B |amT 1L |g&

C. | 1L | 3fd

D. |amg V. |aR

ﬂﬁmw:

1. A-L, B-III, C-IV, D-II

t2

. A-IL, B-IV, C-1, D-III

3. AL B-I1, C-1, D-IV

4. A-IV, B-1, C-II, D-IIT

Question Number : 133 Question Id : 3421233808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 1Y G 1 - Graes R [Ters
1 g

A |3 I |arst

B. | M IR

C. [T IIL | 3fd

D. | 3G V. [k

ﬂﬂaﬂ?qﬂﬁ:

1. A-I, B-IIL, C-IV, D-TI

]

. A-IL B-IV, C-1, D-III

3. A-IIL, B-II, C-I, D-IV

4. A-IV, B-1, C-II, D-III

Question Number : 134 Question Id : 3421233809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L
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Question Number : 134 Question Id : 3421233809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e

Question Number : 135 Question Id : 3421233810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1Y Gl 11 - Graes R ffers

T g 11
T @ | L |did gigd
07 S 1. |dR&=

gad 4e Wi | 111 | giRifores o anfdfes o
TRal IV | &= gried

ﬂﬁﬂﬂ?gﬁﬁ:

1. A-I, B-IL, C-III, D-IV

olo|w|r

[

. A-IL, B-TIL, C-1IV, D-1
3. A-IIL, B-II, C-I, D-IV

4. A-IV, B-1, C-II, D-II

Question Number : 135 Question Id : 3421233810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R fiers
T L T I
A |ggEdivigs | I |a@ afed
B. |7u1 Sy II. |dR&IA
C. |a¥a G BrR]| 111 [dRIfore SR e T
D. |TRa IV. |od O

el

1

t2

Question Number : 136 Question Id : 3421233811 Question Type : MCQ Option Shuffling : No

Wﬂuﬁ:

.A-L B-II, C-II1, D-1IV

. A-II, B-1II, C-IV, D-1

. A-IIL B-II, C-1, D-IV

-A-IV, B-1, C-1II, D-IT

Correct Marks : 2 Wrong Marks : 0

At 1Y Gl 1 - YA [Tera
1 g
A |GIGUY I |=mEga
B. |RUGRiUyY | I [ARon
C. |vmEEidy | I [Ha|
D. |FR=H gy V. [Sisamr

ﬂﬁaﬂ?qﬂﬁ:

. A-I, B-11, C-IV, D-III

|

]

Question Number : 136 Question Id : 3421233811 Question Type : MCQ Option Shuffling : No

. A-II, B-1I1, C-1, D-IV

. A-IIL B-1V, C-1I1, D-1

. A-IV, B-1, C-1II, D-II

Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R fiers
T 1 g 1
A |TIgUy L |=MEg
B. |RUERidy | 1. |+
c |vmEeidy | [HaW
D. |FsH gy IV. | Sisamr

ﬂ'aﬁa?l?gtrﬁ:

1

t2

Question Number : 137 Question Id : 3421233812 Question Type : MCQ Option Shuffling : No

.A-1, B-II, C-IV, D-III

. A-Il, B-IIT, C-1, D-IV

. A-IIT, B-IV, C-I1, D-1

-A-IV, B-1, C-1II, D-IT

Correct Marks : 2 Wrong Marks : 0

At 1Y G 1 - Graes R [Ters

T 1

g I

Tiid &I

L (A @@ aR

PUIGRIRGIE

I |[dasiis

IR 3R U] Sy

II1. | STl ST HHE01 R0

olo|w|r

BIRY 3R o7 ®IcA

IV, |UREdR

iﬂﬂaﬂ??{ﬂﬁ:

|

]

Question Number : 137 Question Id : 3421233812 Question Type : MCQ Option Shuffling : No

. A-I B-IV, C-II, D-III

. A-II, B-III, C-IV, D-1

. A-IIL B-1, C-IV, D-1II

. A-IV, B-1, C-1II, D-II

Correct Marks : 2 Wrong Marks : 0
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T

g 1

UIGEIE:

¥ g H U@ R

PUIRRIRGAE

1I.

EiEIEArE

T 3 WG &g | 111

ST ST HHSTOT AR

olo|w|r

B 3R o @]

T | REER

ﬂ'aﬁa?l?gtrﬁ:

1

t2

Question Number : 138 Question Id : 3421233813 Question Type : MCQ Option Shuffling : No

AL B-IV, C-I0, D-IIT

. A-II, B-1II, C-IV, D-1

- A-IIL B-1, C-IV, D-II

-A-IV, B-1, C-1II, D-IT

Correct Marks : 2 Wrong Marks : 0

At 1Y G 1 - Graes R [Ters
T 1 T I

A, | SEETE! ST 1 |g@c $3dE

B. |ame I gHa 1. | $YH HYard

C. |3 Qo 3 faeRm | 111 |FigeR S

D. | & gul IV. | g R oy

iﬂﬂaﬂ??{ﬂﬁ:

|

]

Question Number : 138 Question Id : 3421233813 Question Type : MCQ Option Shuffling : No

. A-L B-11, C-III, D-IV

- A-II, B-1, C-IV, D-III

- A-IIL B-1V, C-1I1, D-1

. A-IV, B-1II, C-1, D-II

Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R fiers
T T I

A | 3Tl BT I |qEa $3dB

B. |3l i gAd 1. |$gd Hudrd

c |3 gw A faRm| m |TEeR S

D. | gl IV. | HFE®R o

ﬂﬁmw:

1. AL B-IL C-IIL, D-IV

t2

. A-II, B-1, C-1IV, D-III
3. A-II, B-TV, C-11, D-1

4. A-IV, B-111, C-1, D-IT

Question Number : 139 Question Id : 3421233814 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1Y T 11 Graes R fiers
q T T I

A |FRardEE I |dRHC g

B. |Hifd e I |SreHd SHisof

c [mmdem . | e Foe

D. |tRA-Gd B 91d | IV. | EThdl-ardbal

ﬂﬁmw:

1. A1, B-II, C-IIL, D-IV

t2

. A-II, B-1IT, C-IV, D-1

3. A-IIL B-IV, C-1. D-II

4. A-IV, B-1, C-II, D-IIT

Question Number : 139 Question Id : 3421233814 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R fiers
q 1 T 11

A |dRardiad L |diRHS geraH

B. |Hifad e I |SreHd Sisofl

c [mmdem . | e Foe

D. |tRA-Gd Bl 91d | IV. | STdhail-ardbal

ﬂ'aﬁa?l?gtrﬁ:

1

t2

Question Number : 140 Question Id : 3421233815 Question Type : MCQ Option Shuffling : No

.A-L B-II, C-II1, D-1IV

. A-II, B-1II, C-IV, D-1

. A-IIT, B-IV, C-1. D-II

- A-IV, B-1, C-II, D-IIT

Correct Marks : 2 Wrong Marks : 0

At 1Y Gl 1 - YA [Tera
1 g
A |TTesTtemT A FeGIICF |
B |®RiHa W ECE)]
C. |Hargiwrr | L [Ty fa
D. |dicqdl HiE™ | V. | Uhid]

ﬂﬁaﬂ?qﬂﬁ:

|

]

Question Number : 140 Question Id : 3421233815 Question Type : MCQ Option Shuffling : No

. A-I B-IV, C-II1, D-II

. A-II, B-III, C-IV, D-1

. A-III, B-1, C-1I, D-IV

.A-TV, B-I, C-1, D-IIT

Correct Marks : 2 Wrong Marks : 0
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AT 1Y T 11 Graes R fiers
T 1 g 11
A |TTesTieEr L |EifE
B. |miHa . | e
C. |Hadiwrm | 1L | T
D. |ddi Ti-Eg | IV. |Tdhidl

ﬂ'aﬁa?l?gtrﬁ:

1. A-L, B-IV, C-II, D-II

t2

. A-II, B-1II, C-IV, D-1

3. AJIL B-I, C-II, D-IV

4. A-IV, B-11, C-1, D-IIT

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Id : 3421233816 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

2
342123153
No

Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

et H1Y ST Taull I0T R eiel U1ieh 8, To1eh! 30T AT S{TURT HITes- W] HaR 3UH o]
B 3R MR JA-HIH 3R Yol AdeR Y JHA ¥ HNC- IS (B0l dovn i Hreoy UeR
QR 1 & S11d g IURT 182 & gidt 9 Jdaur &2 b1 4Rell J1d Sidd dqull SURT i g,
ST SO Sl ¥ Uh-Us Ui 3 fAS IRaai-ydbl A § ool sirdl foreiil 3 sRds
3HE HTadl IR 3R G i SqUL- TS sl § 15T 9 diel Rdsarst 8. 3ui A1 Udi
3T IR JUIRT AU HH 3R a1 U8 TR HHUE-URE 9T IS-ART A T 3Tl §d
d31d| BT ¢Rdl AT Sdd dqull IURI e g, fSd] iR S0 SR d-dhdr + RdSR gy
RT3 T B 3R IURT UMY T SUR Ush-Udh Yafsd Wik s}l 3 afsyl Yedl I91d |
21 AR UL 3R HIUT Y AR Siid 3R AR {dRi g¢ Yal uvl S{Sd] 3 2 ddsdi <4 |

Sub questions

Question Number : 141 Question Id : 3421233817 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AR SR BT HaRk-Bax ISR Big B2
1. gory 3 Yift 901

. 3TRI T G-l # Tald

3. Rl 9 @es] Y

4. GO 3 Rl gl

f-2

Question Number : 142 Question Id : 3421233818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST Rl A1 THRY [ IR 92 IR A9 ¥ ANTC-UTSd Hod 3] Sy + Uid?

1. qld

2. 91
3.9
4. gddhH

Question Number : 143 Question Id : 3421233819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forg oo TSt 31 erds rgwe fhor # yyTadi 3ol =g -
1. HUTTg-ferarg &
2. G Yar H
3. RARY H
4. 3RYIRSH H

Question Number : 144 Question Id : 3421233820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“UH-UH ey TR §11 1 Jafeal Yool IB1a 13T I Tl 3RY B -
L. 30T Rl X HUI-HUN §R= GUATI < ¥ H ¥1d
2. SR § Rl A PULB AR BeA! Y Rireied
3. 3R U IUER URE GUAUI I §oIRE AHDT H Y Ferd
4. MR R 4ol T afat = +ff 9 Tesrd

Question Number : 145 Question Id : 3421233821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g0 & gid U<iqurgd -
1. SR YR Y
. FAISITY
3. HeEi I Edl g

4. TUT-STOT 3R HIOT

Question Id : 3421233816 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

R AT STeTd STl I0T 3 S Tl S, foIh ST J1Y 3TORT HiTes-Wiadl el 3UH Holo]
DY 3R MR Fd-HIH 3R Yol AdegR Y AHY Y HIC-ISd (G0l dovd I Sy 4R
MR I & Sid g IR T8 3 giST 7 Ydeur & ol 4Rl A1y S dquil SURT Tiefd g,
STl SO S9N ¥ Uh-Udh Ui I S IRaai-Ueb! A # 3ol irdl for<iit 3} 3Rds
3GHY YHIdd IR R G4 3 Squ-wirdei | ST daRk| diel fdsaist g, 3ui 914 gdi
1Y IR IUIRT HIY HH 3R o1 U8 dRd AFRI-IRE GRTTS IS-ARI A U STl dd
931d | BT €l AT STH dqull IURT Wi &, STl IR 30 SR dav-dar  RdSR aur
R 31 TS B 3R IURI AUy ferat SUR Ueh-Ush afSd [idR &3 H afSal Yeal I |
21 AR UL 3R HIUT Y WIR Sl 3R AR {47 §¢ Hal uvl S{Sd] 3 2 ddsdi <4 |

Sub questions

Question Number : 141 Question Id : 3421233817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AR SR BT HaRk-Bax ISR Big B2
1. gory 3 Yift 901

. 3TRI T G-l # Tald

3. Rl 9 @es] Y

4. GO 3 Rl gl

f-2

Question Number : 142 Question Id : 3421233818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST Rl A1 THRY [ IR 92 IR A9 ¥ ANTC-UTSd Hod 3] Sy + Uid?

1. qld

2. 91
3.9
4. gddhH

Question Number : 143 Question Id : 3421233819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forg oo fSierli 31 eRds rgwe fohor  yyradi Yol g -
1. HoTTg-ferarg &
2. Y Yar H
3. RARY H
4. 3RYURSH |

Question Number : 144 Question Id : 3421233820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. 30T Rl X HUI-HUN §R= GUATI < ¥ H ¥1d

2. SR § Rl A PULB AR BeA! Y Rireied

3. 3R U IUER URE GUAUI I §oIRE AHDT H Y Ferd
4. MR R 4ol T afat = +ff 9 Tesrd

Question Number : 145 Question Id : 3421233821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

60 3 giSh Yedau gd -

1. SR YR Y

2. AH ST Y

3. Ed g

4. TUT-STOT 3R HIOT
Sub-Section Number : 3
Sub-Section Id : 342123154
Question Shuffling Allowed : No

Question Id : 3421233822 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

e dR®1e I TP [A0r 31 8 & IuH Wl 3R [YUATR G U 912 e | 3R]
BRI § & oS TRUI-URE Hlsul, ‘§Ud o[ Sl S, 6 7 B¢ 81 I 3137 {9y &5, dRfa
7 faorget G R AT FHSI &, 9IS ST 3R IFT-TT H Th WG] A& &, d SZR B
Hael I 3R ARG RAB] fagl FUT dre Ioid | TSI dR W I A5l dR Hiagl 3
®Hdq Y 3 BRIS 3R dis FW@s! 90/ Usl IURT gyl 3 WRHe feferid dis s Tl T ¥
RO T fYUATRE Y19 ¥ dR&1e 3 &iarg f$es.aifigd ¥ iBaRi 1 516 3 I1 a2 g1
Y ¥YH dR 9 901 WIaR 3M1d, Sieg 9ISt ¥ URaR =41 geRl 901l HIdl 41 7Y Hb DI,
©dd U HidST 3R a0 =01 Al cuaddl, giyal Tl disfes Rl 3R YSdi I g9
¢l Yol Adell geigll o ddid |

Sub questions

Question Number : 146 Question Id : 3421233823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YRIUT 3R FHUATR & U 918 & 3 el -

ST JRART H

ISR dRIHE |

3. IS IeTai o

4. IS dRBTH H

—

f-2

Question Number : 147 Question Id : 3421233824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARGl RATes1d! ferat fhurdt are Siid -
1. SR BRI 3
2. Ggdat 3
3. SR
4. ATHHART 3

Question Number : 148 Question Id : 3421233825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UHL B F 0 S8t Y T 7Y YR Bl © -
1. 98T ¥ IR &
2. Had
3. gy 3

4. HIeTi 3

Question Number : 149 Question Id : 3421233826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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~gYesd JfSTI ST, H 3¢ 81U U 3RYE -
1. Ufq-gdl STermi-SaEr aroft g 3d |

2. Ui 3RAT HHR 393 Ul 3 814 Ubadi 5 IRd |
3. gYadd T g1y et el gai Uil Al @ ¢ |
4. o130 91U gYebdl SIISIddl ¢H dhd & 31 BTY THI Udhsgi IRgal |

Question Number : 150 Question Id : 3421233827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST ¥ dTeg! dR TR Bl Tl U DI -
1. IRHR
2. HIW
3. g

4. B UgIcd

Question Id : 3421233822 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

IS dRbT1eT I TP [GA0rdr 318 & 30 Wl 3R FYUATR & U 91 e | 3UR1
HRU g & SIS TRUL-IRE TSI, “§USd Sl S, g1 A B¢ g1y I TS fayy g, dRarfd
g1 fasragl GiH HRA A HHSIY o8, SIS ST 3R I H Udh WG] Al 8. d SR Hled G
Hasl I 3R ARGl deHIe] ferdl SHul die Isid | Usl dR IRWRT I 964l diR dfadi 3
S Y 3 HRIS 3R divl E@e! 9o/l gLl 3URT gyyi § urHes feuferid dis o gill e ¥
a¥uNTd H fYUpTRE Uid ¥ 91 3 eRamd f$ves-giigd 4 fgdiki o1 96 W 941 < §42
Y EYH dR + 901 WeR 314, Sles 9IS ¥ URaR =01 GeRI 9HSBI1, U =401 7Y Yoo,
®ad Ul digedl 3R 38 w2l didl THdIdl, giYal Ul deie Rl 3R 4ulldi I gue
YRl Yeb! Tl Gelg Ul o o |

Sub questions

Question Number : 146 Question Id : 3421233823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YRIUT 3R FHUATR & U 918 & 3 el -

ST JRART H

ISR dRIHE |

3. IS IeTai o

4. IS dRBTH H

—

f-2

Question Number : 147 Question Id : 3421233824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARGl RATes1a! ferat fhurdt are iid -
1. SR SHHRI 3
2. &qdat 3
3. SFIRI
4. ATHHART 3

Question Number : 148 Question Id : 3421233825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U U §921 Y FRI Y YR Hel © -
1. 95T ¥ IR &
2. Hag
3. i
4. YT 3

Question Number : 149 Question Id : 3421233826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“gYc5d Sff STl oIl gH 1 B 51U A 3RYE -
1. Ufd-Uell STeHi-STerHT oTof 9 |
2. Gfd 3RAT $HAR 393 Ul U g1y Udhadl 5 JRd |
3. gYa3d U g1y firardist el gai Ul Al @ ¢ |
4. o130 91U gYebdl SIISIddl ¢H dhd & 31 BTY THI Udhsgi IRgal |

Question Number : 150 Question Id : 3421233827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 3 dTeg! dR IR i Thdl U DI -
1 IRHR
2. HIW
3. g

4. B UgIcd
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